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Candidate should not leave the Examination hall without
giving the biometric attendance. If any candidate does not give
his/her biometric attendance, his’lher OMR Answer Sheet
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Before leaving the Examination hall, the candidate should hand
over the OMR Answer Sheet to the invigilator failing which
Criminal Prosecution will be initiated as per law, besides
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Candidates are permitted to take away the Question Paper
Booklet with them after completion of the examination and it
should be preserved till the declaration of results.
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Which of the following statements are correct with regard to ‘Khelo India Youth Games 2023’ which
were held in January 2024 ?

They were held in four cities of Tamil Nadu.
Conventional sports such as badminton and volleyball were a part of the games.
This is the second time that Khelo India Youth Games were held in South India.

Traditional sports such as kabaddi and yogasana were part of the Khelo India Youth Games
2023.

Choose the correct answer :

(1) A and B only (2) CandD only

(3) A, B and C only (4) A, BandD only

23558 2024 S 2803 BS' R0AAST 0HrS Bad) (Khelo India Youth Games) 2028° £ 02008500 808
FSDIOS” DD OB ?

A 3D SNFT S et SHorereS’ 38mow.

B. 2@$32068 0800 FOrS $50¢3 HoITTo% (§chexn & o) &S 2 aorr eseyom .

C. BS 0K OHTS B 58 9 2S5 TIoS” 238580 BE BOChS 6.

D. £33 805 TIPMIS $0e3 HoHTah [Eehen BS' R0ACST Ors B 2023 ¢ 2350 ta™), ow.
OB QATPERR), DOTNT AW :

(1) A X835 B Se(ehad (2) C HOAN D Sr(ehad

(3) A, B sHB05W C S35°(¢hadd (4) A, B O8O0 D S35°(ehadd

Who among the following was appointed as the new Comptroller and Auditor General of India in
November 2024 ?

cawp»>

(1) Shashi Kant Sharma (2) K. Sanjay Murthy

(3) Girish Chandra Murmu (4) C.G. Somaiah

1808 T8’ 550205 2024 &S° eS0T DONMONIDES 27Eeh 50| D e3BD 2355S oS ?
(1) 33520 38 2) 3. Sozod Srd

(3) RO B0 S0 4) .8 A%

Where did the 13" Ministerial Conference of the World Trade Organization (WTO) take place
during February—March 2024 ?

(1) Geneva (2) New Delhi (3) Belarus (4) Abu Dhabi
D258-555) 2024 & (HD0TS aredess HOR (WTO) T3nEy 1355 200500 0w DeSrS$0 28205 236808 ?
1) 2do @ Srsad 3) BerdD @) o2 )

Which of the following statements is/are true in relation to Nari Shakti Vandan Adhiniyam, 2023 ?

A. Nari Shakti Vandan Adhiniyam, 2023 seeks to reserve one-third of total seats for women in both
the Houses of Parliament and state legislative assemblies.

B. It was the 104" Constitutional Amendment Act.

Choose the correct answer :

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

58 48 S00S BICH 2023 £ H0OGON (80H T §OS” DA/ 2.y, ?

A TR A D250 08050 FTR0ENS' B DB 0STFE 1/3 S0k DS 8255 TASTO
8 38 S06S AJAHD 2023 Ty &TF0.

B. @& 104 0rer§oli 08 wd&0.

OB NATPER), DOTNE AW :
(1) A Sr(edad (2) BT
(3) A HBASW B Bocky (4) A BASW B BOKY® 5°)
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Consider the following statements :

A. Government of Telangana announced to exempt Electric Vehicles (EVs) 100% from road tax and
registration fee.

B. The tax exemption for EVs is applicable to both Greater Hyderabad Municipal Corporation
(GHMC) and non-GHMC areas.

C. The exemption benefits are available for three years, until December 31, 2027.
Which of the above statements is/are correct ?

(1) A only (2) A and B only
(3) A and C only (4) A,BandC
&2 (808 5D 5O (HP0T0W ¢

A DR TroR0 (EV ©50) 100% Scr8 D), 88N G0S00 0E SIFON0D) RN
B0 (D20eb S0 (DEEZoD0H.

B. EV ©%) d3) DSTFan0) (D 33002 $SnQ)NS 528)BAS (aro¢so (GHMC) 805 GHMC
DS (TOTOR SONOA.

C. DIIP0N0Y (DTBFBTED SIPTEY e 90T G020 31, 2027 HBZ 023N’ GOLroN.
2 DO DE/DD DETDIE/D ?

(1) A Sr(edad (2) A B3N B Sr(ebad

(3) A X0B3W C (v (4) A, B85 C

Which of the following statements is/are true in relation to UNESCO’s Creative Cities Network ?
A. Kozhikode in Kerala was included as a ‘city of literature’ in 2023.

B. Jodhpur in Rajasthan was included as a ‘city of music’ in 2023.

Choose the correct answer :

(1) Neither A nor B (2) Both Aand B

(3) Aonly (4) Bonly

OSNTF), (UNESCO) T3nE) D93ared s Sioeed) SE358580 0020800 1808 550 DE/D ey, ?
A. 2023 S BEFS'Q FREE & rareds SHBO (city of literature) M DO ).

B. 2023 & OSSR SH5&0 Sofied SHEO (city of music) P Do ).

OB QATPFRR), DOTHE W :
(1) A N850 B BO® 5°) (2) A N8035 B Bocky
(3) A Xr(eddd (4) B IreD

Which of the following statements is/are true with regard to IITs ?

A. India and UAE signed an MOU to establish the first campus of IIT Delhi in Abu Dhabi in 2023.

B. IIT Madras opened its offshore campus in Zanzibar in 2023.

Choose the correct answer :

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

2%¢3 (IIT) ©%0 H020E0D 1808 & $WEOES” DE/QD 8.2;, ?

A, 20B0HS BIVEPES @D TSy el (IIT), O Ty Docses 500V @2 S’ DT°)en FOHEFDE
2BSHTIFO OO ANTBE @8 DNV ) ST 20)000 (Memorandum of Understanding)
2023 &’ HOBE0 TFOW.

B. 2023 ¢ 25023255 ¢ R0A0NS AT &9 B2 (IIT) sDIEFR S Ty SHFE 505V

S8Q0L.
DB DTG, DODE TOMW :
(1) A Sr(edad (2) B 3reD
(8) A 8% B Bockr (4) A BN B Bor 5°0)
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Which of the following statements are true in relation to North Atlantic Treaty Organization
(NATO) ?

A. As of March 2024, NATO has 32 member countries.

B. Sweden joined NATO in 2024.

C. NATO headquarters is located at Paris.

D. Switzerland is a NATO member.

Choose the correct answer :

(1) A and B only

(2) A, B and C only

(3) A,B,Cand D

(4) C and D only

&S 03§ 2,00 HoQ (NATO) 5 H0200800) 1808 &S D 2y, ?
A, S8 2024 T7¢38 €55 er0e3E 2,0)0¢ DN 32 525 TN o) OW.
B. 2024 ¢° D558 &S e9r0e3E 2,008 HoRS TE0.

C. &SS etroe3s 20108 DO DTS ST EOAN0 FEV &S GOd.

D. &$8 ©Eroe3s 25)0 HoIS 1 Bersoh 2 Hass TIo.

DB DSTETR), DODE TIOMW :

(1) A SO B S35°(ehadd

(2) A, B SO C S

(3) A, B, C 850 D

(4) C OB D Xr(ehadd

Which of the following statements are true in relation to the second edition of the Oceanographers
and Hydrographers Conference under the umbrella of the Colombo Security Conclave (CSC) ?
A. Tt was held in the National Institute of Oceanography in Visakhapatnam.

B. The Conference was held at Chennai and Hyderabad in January 2024.

C. The participants discussed on the theme of ‘Our Ocean is Our Future’.

D. Delegates from Maldives and Australia participated in this Conference.

Choose the correct answer :

(1) A and D only

(2) B and C only

(3) A, Cand D only

(4) B, C and D only

Fo& Er0¢3 SIS (CSC) e3¢558508° BOAS B0 HDAMIS FIISBO HOAW 28 550N
FNSB HSrSFTIE H00A0D (80 FSWIOS” DD 8.3y, ?
DD HEQDOS DSW(CS 5N 2BADH HODES’ & DSTFSF0 8OA0A.
B. 2858 2024 & BT, SHOAN 3rTr&S & HSrS30 26808
C. ‘30 DAWB0 DX BANES O ABSYB0 &t DSTFIFOS” P 3B 98 0T .
D. SrOHeD HO0 e VO 0B (DBAEN & SSFSFoS ) K.
DB DIPETTR), DODE O
(1) A SHBAW D Sr(ehadd
(2) B 0B05» C Sr(ehad
(3) A, C 835w D Sr(edad
(4) B, C 08050 D S(¢ba
I (4) Ee

e
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10.

11.

Match the following in relation to the 70tk National Film Awards, 2024 :

Category Award
A. Best feature film 1. Rishab Shetty
B. Best actor II. Kantara
C. Best director II1. Aattam
D. Best popular film IV. Salil Chowdhury

V. Sooraj Barjatya

Choose the correct answer :

(1) A-II; B-I; C-IV; D-III (2) A-III; B-V; C-IV; D-II

(3) A-III; B-1V; C-V; D-II (4) A-III; B-I; C-V; D-II

70 & 2305 OS5 HS)T°eN, 2024 S8 DODOE0D) &3 (80 T¢3Q 23¢5BTXM :
3&A8 @°CD

A &S5 IS Ao I B82S &

B. & Senckd IL. sosd

C. &S BB . eséo

D. &5 (D0 D0 IV. 3OS I8

V. Qrdes Derehs

QBN DIPERR), DOTDE R0 :
(1) A-II; B-I; C-IV; D-III (2) A-III; B-V; C-1V; D-II
(3) A-III; B-IV; C-V; D-II (4) A-III; B-I; C-V; D-II

Which of the following statements is/are true ?

A. Indian Space Research Organization (ISRO) successfully launched the mission Divyastra in
March 2024.

B. The latest variant of Agni-5 missile is equipped with MIRV (Multiple Independently Targetable
Re-entry Vehicle) technology.

C. India is the first country to have MIRV-equipped missile.
D. Agni-5 is a cruise missile.

Choose the correct answer :

(1) A and B only (2) Bonly
(3) C only 4) A,B,CandD
808 55O’ IO/ 8y, ?

A, 382024 S 2rEeS 00588 HBTT® DO (ISRO) MAS O S Qedd D2BONH0BOMP (HTFAODOE.

B. & 3revd @f)-5 8063, 250 O 550(¢b ©F.§ DA QD3 a3 (Multiple Independently Targetable
Re-entry Vehicle) r08e38e5 O &0H.

C. 230 I B50(d ©F FN 2 (D38 a3 r0Tedses EOAS § N3 &d) Jncde3 T30 238,
D. ©f)-5 2.8 (§orones (cruise) § De3.

QB DIFPTR), DODE O
(1) A SHOAW B S35°(ehadd (2) BT
(8) C Sr(ehad (4) A, B, C 805 D

[e] &

e
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12,

13.

14.

Arrange the following states in ascending order based on number of assembly seats in each state as
of March 2024 :

A. Assam

B. Telangana

C. Chhattisgarh

D. Jharkhand

E. Uttarakhand

Choose the correct answer :

(1) E,D,A,B,C (2) E,D,C,B,A 3) AC,B,DE 4) C,E,B,D,A
S8 2024 38 (DR TIROSD @08 D Hops @rdor 806 Tl efrmr (oS
9080 )30

A, ®©J)0

B. Soomre

C. SO HG

D. &rdrob

E. &doro&

DB DTG, 0D TTASNXW

(1) E,;D,A,B,C (2) E,D,C,B,A 3) AC,B,D,E 4) C,E,B,D A
Match the Artificial Intelligence (AI) tools with their developers :

Al Tool Developer

A. Chat GPT I. Apple

B. Gemini (Bard) II. Amazon

C. Alexa ITII. OpenAl

IV. Google

Choose the correct answer :

(1) A-III; B-II; C-1 (2) A-III; B-1V; C-II

(3) A-III; B-I; C-IV (4) A-1V; B-III; C-II
B33 0 GHESTOL (Artificial Intelligence tools) a¢3 Er088e> (developers) & 2365 HBTHSW :

(D) DS G085 Se00 leh (e}

A O 3D L. 1)

B. 3 (@rd) II. NN

C. ©38) . &P (OpenAl)

V. S

OB N QAT DOTDE RN :

(1) A-III; B-II; C-I (2) A-III; B-1V; C-II

(3) A-IIT; B-I; C-IV (4) A-IV; B-III; C-II

Who among the following assumed the charge as the new Cabinet Secretary of India in
August 2024 ?

(1) Dr. T.V. Somanathan (2) N.R. Pillai

(3) M.K. Vellodi (4) Rajiv Gauba

1808 86’ esii) Ted 2024 &° erESTF S PETE VB T a5e5e0 R SEBODS T DS ?
1) @ 3. . NP (2) ODOS. &8D. DAL

(3) OH. 5. 353 4) TES T

El (6) E%%

e
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15.

16.

17.

18.

Which of the following states ranked first for the second consecutive year in the State Food Security
Index 2024, of the Food Safety Standards Authority of India (FSSAI) ?

(1) Karnataka (2) Gujarat (83) Tamil Nadu (4) Kerala

1BOB ¢3S’ arSeh 355 (e (DSIPETe (BrOSS HoR (FSSAI) GIngy 3558 25165 SordE 2024 (H5°80
SEOT DO B S0 FEODS TR0 O ?

(1) $greos 2) oS (3) SDFTCR 4) 3%

Consider the following statements in relation to ‘Operation Dronagiri’ :

A. It is a pilot project under the National Geospatial Policy 2022.

B. Itis a new project under the Ministry of Youth Affairs and Sports, Government of India.

C. It was launched in November, 2024.

D. In the first phase, it will be implemented in Uttar Pradesh, Haryana, Assam, Andhra Pradesh
and Maharashtra.

Which of the above statements are correct ?

(1) A, C and D only (2) Aand C only

(3) B, C and D only (4) BandD only

‘SHVAS (FBE” B0 000D (OO 5 HORFOTVIM :

A QO 2B0% 2L D0, 2022 (National Geospatial Policy) ¢ 2.8 008 (B8,

B. 8 275e (525655 O503238 959558 Tren, 8¢5 s0(€3¢8 5 TR Sehed (TBH.

C. BB 350K, 2024 &S (BFB0DOIDEOL.

D. 38 03 SIS GBS (DT, TS, )0, €0 (DT 0B S0TPT TS 955000 S2H0d.
2 TIDEOS DR DB ?

(1) A, C 00 D S(ehadd (2) A HBAW C Sr(ebadd

(3) B, C S0835» D Sr(¢dad (4) B OO D Sr(ehad

Arrange the following political parties in ascending order based on percentage of votes secured by
these parties out of total votes polled in the general elections to Telangana State Assembly held on

30th November 2023 :

A. Indian National Congress B. Bharatiya Janata Party

C. Bharat Rashtra Samithi D. Communist Party of India

Choose the correct answer :

(1) D,A,C,B (2) D,B,C,A 3) ACB,D 4) C,B,D,A

30 55025 2023 & S0P TR TS DBE BOAS S HAYEOS B0 FBS 4LS ;oD
4,8 350 SS0M (80O T°B80% P 8T 150065 @& )8 :

A. 2rEe 20D SORR B. 2r3e30% 33 0

C. 23S TR DS D.  Z35 8 e R0&as®

QB DIPETTR), DODE 3O

(1) D,A,C, B 2) D,B,C,A 3) A,C,B,D (4) C,B,D,A

In which of the following cities was SEMICON India 2024 held for shaping the Semiconductor
Future ?

(1) Hyderabad (2) Bengaluru (3) Ahmedabad (4) Greater Noida
NE0BED AN EFFOBORETIE DTS OGO 2024, B0 & SK5S0S” JE5eT050E0E ?
1) So7ers (2)  ZorHrdd (3) e irerd 4) (b Sonae

[e] &

e
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19. The Nobel Prize in Physiology for the year 2024 was awarded to two scientists for :

(1) discovery of microRNA and its role in post-transcriptional gene regulation

(2) discoveries concerning genomes of extinct hominins and human evolution

(3) discoveries of receptors for temperature and touch

(4) discovery of Hepatitis C virus

2024 HOXSITDE S F8BE2 (X0 (physiology) S RPH F(NIBOH B FEH SBS 2T0HB

QNS ?

(1) DIE SOIS DN B8 0OAN Y — (€S JERIS 2305 ADHO(5eeS” T s

(2) ©0HBODNFONS HFNIY (hominins) DO P DOETN0 TBNEY BVIOZ DODOHODS
AN BEOZ

(3) &P 0BAW D)8 FHo (M @8NS0

(4) OBV C BB 8N BH

20. Which of the following statements is/are true ?

A. Smt. Sudha Murty was nominated to the Rajya Sabha by the President of India in March 2024.

B. Smt. Sudha Murty is a writer in Kannada language.

C. Smt. M. Bhargavan Snehalatha was appointed as a Supreme Court Judge by the President of

India in April 2024.
Choose the correct answer :
(1) A and B only (2) Conly
(3) A,Band C (4) A and C only
808 550 DB/ 8y, ?

A DS DG O S8 2024 & 2SS TLRNS T3 D2IE TN RE T

B. 208 Oree S8 £3)¢ oardeS’ Shom (.

C. 2758 T (ROB DS 2024 S’ 0 A, 2PBIS YT DO §E 50008 AL O ED.
DB DSFETTR), DODE TOMW

(1) A SHOAW B SS°(ehad (2) C ST
(38) A, B8 C 4) A BAW C Sr(ebad
21. Match the following Chief Executive Officers (CEOs) with their companies, as of November 2024 :

CEO Company

A. Sundar Pichai I. Adobe

B. Satya Nadella II. IBM

C. Shantanu Narayen ITI. Google

D. Arvind Krishna IV. Microsoft

Choose the correct answer :

(1) A-III; B-1V; C-II; D-I (2) A-III; B-1V; C-I; D-II

(3) A-III; B-I; C-1V; D-II (4) A-1V; B-III; C-I; D-II

35025 2024 °¢38, 80 SNWS 5B IAT=5aTE ATEOX (CEODSs) 5778 DO 2365 D0 )odm :
SOOI @356 NJosY)

A, DOBB DD I &85

B. I35 o3 II. 2.8, doX.

C. 05D °T°ONED L 5250

D. @3J0& Sy IV. DERD

OB QAP DOTNET W :

(1) A-IIT; B-1V; C-1I; D-1 (2) A-III; B-1V; C-I; D-II

(3) A-I; B-I; C-IV; D-II (4) A-IV; BIIL; C-I; D-II

[e] &

e
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22. The newly elected President of Sri Lanka (September, 2024) Anura Kumara Dissanayake belongs to
which political party ?

(1) United National Party (2) Samagi Jana Bolovegaya

(3) Janatha Vimukthi Peramuna (4) Sri Lanka Podujana Peramuna

STSS0T DAYTS BO0E @BIR® (DNODE 2024) @HE &IPS OJITOHE d oraad 08
TOOSCR ?

(1) BSNTBE TASS 38 (2) DDA 28 SOSHOH
(3) 23T D3 DEINS (4)  300E FBS DESN

23. Which of the following statements are true in relation to Oscar Awards 2024 ?

A. Cillian Murphy won the Best Supporting Actor award for the movie ‘Oppenheimer’.
B. Emma Stone won the Best Actress award for the movie ‘Poor Things’.

C. Christopher Nolan won the Best Actor award.

D. ‘The Last Repair Shop’ won the Best Documentary Short Film award.

Choose the correct answer :

(1) A and C only (2) A, CandD only

(3) B and D only (4) B, Cand D only

3,5 HBTyT7e 2024 50 H020H0D) 1808 T SWEDOES DN &y, ?

A ERSTND DASTE ) DOANS 06y E5Badd OIFAD SN YHELTR), TenthHZT®) C.
B. 257 &S ‘530 HONY @ DASTE €596 3¢ @05 Tenthood.

C. 1BFNE S8 &add SenG HBI0°Q), FenTHET®) .

D. 'S ery 8RN0 are’ & @rESRN08 ©H0 Ded HSIRT Y FenHR0E.

DB DSFETTR), DODE TOMW
(1) A SHOAW C S°(ehad (2) A, C 8350 D S(ebadd
(3) B 08050 D S°(ehadd (4) B, C 0805 D S

24. Consider the following statements in relation to India’s performance at Paris Paralympic Games
2024 :

A. India won a total of 29 medals, including 7 gold, 9 silver and 13 bronze.
B. India secured 14" place among participating nations.

Which of the above statements is/are correct ?

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

2024 S FEVS JESF0NDES FEOD0DE (SRS arSSTF (5315 HoDOHOD (80 WO
DBKB0TNW :

A, 2r8STF0 T O5E HeShsren, 9 B23eh HehSen SNOAN 13 50N DHTOS B0 29 NS5 FOOVOE.
B. SN B ardaB30 14 & o) rOO08.
2 DO DE/AD DI/ ?
1) A SrSD (2) B IS
(3) A NBAW B Bo&ky (4) A DB B BOKY 55
I (9) Ee
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25.

26.

27.

28.

Consider the following statements in relation to the Global Technology Summit (GTS) 2023 :

A. The 8 edition of the Summit was held in Paris in December 2023.

B. The theme of the 2023 Summit was ‘Geopolitics of Technology’.

Which of the above statements is/are correct ?

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

D0 P03 FHT DT (GTS) 2023 0 H020E0D) 80E 7§D DOREIOTNXW
A, & DT DSTRED) 835 AAAS B1025 2023 >8R ' 86008.

B. 2023 2883 DTN DSrS$0 TBwE)y VRSB0 (theme) ‘WrOTRE HOTRY) THDE  orasdairen’

(Geopolitics of Technology).
2 TIDEOS” DE/AD HETIE/D ?

1) AP (2) BT
(3) A B B Bocky (4) A HBCN B DO 559
Which of the following country was admitted into the NATO in 2023 ?
(1) Finland (2) Ireland (3) Sweden (4) Ukraine
& 808 e3¢’ 2023 S T¢S° (NATO) & TS )FDES BF0 D& ?
(1) DS erod 2) 2T0& (3) DIBS @)  &EBons
Match the following BRICS Summits with their respective host countries :
Summit Country
A, 11t I. India
B. 12t II. China
c. 13t II1. Brazil
D. 14t IV. Russia

V. South Africa

Choose the correct answer :

(1) A-II; B-IV; C-I; D-V (2) A-III; B-IV; C-I; D-II
(3) A-V; B-IIL; C-1V; D-I (4) A-IV; B-I; C-II; D-II
808 (5. (BRICS) 300(§ DTS €99 2380 BT 23S0 :
B0 D50 a0
A 113 I.  2r&s33%0
B. 128 I 3o
C. 13% . (B82S
D. 14 IV. &2rs
V. &80 e85
OB DAV, DOTNE R :
(1) AL B-IV; C-I; D-V (2) AL B-IV; C-I; D-II
(3) A-V; B-III; C-IV; D-I (4) A-IV; B-I; C-IIT; D-II

Yoweri Kaguta Museveni, the present Chairman of the Non-Aligned Movement (NAM) belongs to

which of the following country ?

(1) Namibia (2) Kenya (83) Zimbabwe (4) Uganda
1005 9D 59565 (NAM) TE2S THO Si5mes S &2 808 B TOAS 3% :
(1) MDA (2) 3o (3) Boarasg (4) &row®
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29.

30.

31.

Consider the following statements in relation to the Global Biofuels Alliance :
A. Tt is initiated by the UNO.

B. World Economic Forum (WEF) is a part of the alliance.

C. India is a member of the alliance.

D. The alliance was formally launched in New Delhi in 2023.

Which of the above statements are correct ?

(1) A,B,Cand D (2) A, BandC only
(3) B, C and D only (4) A, CandD only
D0 2d QOBT ) N8 H0220HOD) 80& F§W 5N DEHBF0TM
A 28 0850788 S (UNO) &°O° (2S00 0308.

B. ()05 &30 £FS0 (WEF) & SredoeS’ 2350,

C. & 3rLODS erSSTI0 HeosTew.

D. & P& 3rs AOS 20236 er0BS0m [PS0D0IDE0E.

2 DO DD HOTID ?
(1) A, B, C 805 D (2) A, B08a C Xr|ehad
(3) B, C 083w D Sr(ehad (4) A, C B0 D S

Arrange the following international organisations in chronological order on the basis of their
establishment :

A. United Nations Organisation (UNO) B. International Monetary Fund (IMF)

C. World Health Organisation (WHO) D. World Intellectual Property Organisation (WIPO)
Choose the correct answer :

(1) A,B,C,D (2) B,A,C,D 3 ACB,D 4) D,AB,C

808 AN OST°HOH DOXOK 3¢3 S5ITHE D035 IS0 STFSOM, 5°0 (ES3T0eh (F3ST 950K )5
A, 2850725 HME (UNO) B. ©0&T°S0% (355 A (IMF)

C. O30S es8s HoQ (WHO) D. (HJ0 NE H01S HoY (WIPO)

QOB QPG DOTNT 0 :

(1) A,B,C,D (2) B,ACD 3) AC,B,D 4) D,AB,C

Which of the following statements about India-Middle East-Europe Economic Corridor (IMEC)

project are correct ?

A. The project was signed at the G-20 Summit held in New Delhi in 2023.

B. Itis a part of the G-7’s Partnership for Global Infrastructure and Investment (PGII) project.

C. Itis considered as a response to China’s Belt and Road Initiative project.

D. Saudi Arabia, European Union, India, UAE, UK, US, France and Egypt signed IMEC’s MoU.

Choose the correct answer :

(1) A)B,Cand D (2) A, Band C only

(3) A, C and D only (4) B and C only

2 85-30858 |Peds-08r €08 5280 (IMEC) (2rB550 0020800 (8§08 a5 HOTDSD D ?

A & ra§ 22023 S Srg BOS' 288 G-20 T DSTFRF0S Hoddsren B3OASD.

B. G-7 DD S5O Se0P00e> 08050 P22 23550 (PGII) S & rBS 2.8 2.

C. 2O T ABEY BY HOG & (BB (DB JOBST 2rD0NDEIBI0R.

D. & BN, RTINS ArAONS, 2rESTBF0, ANDY, GNT, ANV, (S SOOI &a23)en
D)NJR ANEY @STTS 2,D)0K0 2 D0SE0 TPV,

OB NATPERR), DOTNE AW :
(1) A,B,C 83w D (2) A, BB C Sr(edad

(3) A, C O D Sr(ehad (4) B HOAW C S
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32.

33.

The UN Global Compact Leaders Summit, 2024 is meant to review the following :

(1) Private sector contribution to advancing Sustainable Development Goals (SDGs).

(2) G-7 countries’ contribution to the advancement of inclusive international order.

(3) Private sector contribution in achieving the goals of carbon emissions.

(4) UNO’s contribution to further the cause of global peace.

08507850 TS S0 O35 3T DXIFSF0, 2024 (80O 3°¢3Q HWE 0THEE GBRODDE0E :
(1) D0VTDHYED ©F 555308 (SDGs) S300CHE S0TEHBOS [SEW 3050 HFsS0.

(2) DD 0BT AL (D0 HSMOCNE BNTLHB0S G-7 B HFsS0.

(3) 885)S GTTO ©F 00 TS | SE S0t HSFSEO0.

(4) [DHOTH TOBA HSMOCNEL BNTLHB0ES ©E5T725 DA EYa.

Five ICAR institutions and six locations are given below. Based on the location of the Headquarters

of the Institute, match the following :

Institute Location of the Headquarters
A. Central Institute for Cotton Research I Varanasi
B. Central Rice Research Institute II.  Shimla
C. Indian Institute of Vegetable Research III. Kolkata
D. Indian Institute of Sugarcane Research IV. = Cuttack
E. Central Potato Research Institute V. Lucknow
VI. Nagpur
Choose the correct answer :
(1) A-IV; B-VI; C-II; D-V; E-III (2) A-VI; B-IV; C-I; D-V; E-II
(3) A-VI; B-1V; C-II; D-V; E-III (4) A-IV; B-II; C-I; D-VI; E-V

200 VDO (ICAR) S0Qen HBAN e (DT (808 S S2F°0N. NOPS TEY (DTS ST §OH0
BEY (DTF0 eS0T 808 °¢3Q 235080 ¢

Doy (0TS 5T OANO ARVEY (HETFO
A, OOS 3.5 DB 578 86) L BT
B. 0®S B 818 9, 5ed II. DY°
C. Q0BONS A5 8D 8o 815 IIL. FSE
D. R0B0HS AQ,5E e3D DNEIS 8B V. SN
E. oS &eres’ 85) @) o sed V. o8
VI S*hoyd
OB DTG0 DOTNT AW :
(1) A-IV; B-VL; C-I; D-V; E-III (2) A-VI; B-IV; C-I; D-V; E-II
(3) A-VIL, B-IV; C-I; D-V; E-III (4) A-IV; B-IL; C-I; D-VI; E-V

EE
I (12) Ee
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34. Five Super Computers and six institutions are given below. Based on the location of the Super
Computers, match the following :

Super Computer Institute in which it is located
A. PARAM Shakti I IIT, Gandhinagar
B. PARAM Yukti II.  IISc, Bangalore
C. PARAM Ananta III. IIT, Kharagpur
D. PARAM Brahma IV. IIT, Hyderabad
E. PARAM Pravega V. IISER, Pune

VI. JNCASR, Bangalore
Choose the correct answer :
(1) A-III; B-I; C-VI; D-IV; E-II (2) A-II; B-V; C-VI; D-IV; E-1
(3) A-III; B-VI; C-I; D-V; E-II (4) A-III; B-I, C-VI; D-V; E-II
200 JHE FoIPserdd 8O e8¢ Hoew (808 @S T AN, ArHd FoIsadd &) (NTF0 esrdorr
Bo& o°¢3Q 23508 )0 ¢

06 oS DB &5a3) DOP
A DB 38 I 22, moddKd
B. H3 0§ II. 90V ), TOKETS
C. DB @S0k III. 5050¢3, SH IO
D. D8 2257 IV. 20%¢3, 3rdoeerd
E. I8 (D35 V. 29000 | ed, I
VI. B D 2 O &85, Z300¢rS
OB DTGP0 ORI
(1) A-IIL; B-I; C-VI; D-IV; E-II (2) A-IL B-V; C-VL; D-IV; E-I
(3) A-IIL; B-VI; C-I; D-V; E-II (4) A-II; B-I; C-VI; D-V; E-II
35. Bombay Blood group was discovered in by .
(1) 1948, J.C. Patel (2) 1952, Y.M. Bhende
(3) 1956, Y.M. Bhende (4) 1958, J.C. Patel
20 V& (1D HoXS 50 ST 0.
(1) 1948, B.2. HoS (2) 1952, 3.00. 2303
(3) 1956, 3.20. 30T (4) 1958, B.. TS

36. Which of the following statements is/are true regarding the solar system ?

A. The Sun is 180 million kilometres away from the Earth.

B. Sirius is a planet of the solar system.

C. Venus is the hottest planet in our solar system.

Choose the correct answer :

(1) A only (2) B only (3) A and B only (4) Conly
A8 535980 SO0 &3 (808 BDYNS T3S’ /A 88y, ?

A, SrS5c 5708 180 WAOHS &S Mead S0’ ey .

B. 280HV T S H0BO0S 2,8 (H5T0.

C. 8 55506 HIB0c e0eh50e5 Gl (i9eh S (HaFadm.

OB QPGP0 DOTNT R :

1) A Sr(edad (2) B3 (3) AXNBAWBATHaDd  (4) C ST
37. Which of the following has the highest frequency in the electromagnetic spectrum ?

(1) X-ray (2) Microwave ray

(3) Gamma ray (4) Ultraviolet ray

1BOCS AN 5BS T¢3° DCIAN,0 ) E0 S e0ehsE SSETNRN0 EOR &Y B DA ?

(1) 5 (X) 880 2) DDEIS (Microwave) 8520

(3) > (Gamma) 880 4) DS eyres (Ultraviolet) 8390
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38.

39.

40.

Five Indian scientists and six fields of research are given below. Based on the field of research of the
scientists, match the following :

Name of the Scientist Field of Research
A. Satyendranath Bose 1. Statistics
B. D.R. Kaprekar II. Chemistry
C. C.R.Rao III. Botany
D. C.N.R.Rao IV. Physics
E. Janaki Ammal V. Mathematics
VI. Geology
Choose the correct answer :
(1) A-1IV; B-V; C-I; D-II; E-III (2) A-V; B-1IV; C-I; D-II; E-III
(3) A-II; B-III; C-1V; D-I; E-VI (4) A-III; B-1I; C-IV; D-I; E-VI

DE0HB 27rBS T RIBen HOAN e HOTRT Borren (B0 AN [ITON. TN TN, HOTBD"
S0, &SSO BT, (80 5°¢3 23808 08 :

77 VDS D SEF o Soro
A 385058 50 L aredS)
B. &.ub. 5245 II. SR
C. Db oS I &S
D. D.00.880. 0% IV. 2238)
E. 8 o087 S V. 0¢385)
VI. 238re>as
OB QATPET0 DOTNE AW :
(1) A-IV; B-V; C-I; D-II; E-III (2) A-V; B-1V; C-I; D-II; E-III
(3) A-IL; B-IIL; C-IV; D-I; E-VI (4) A-IIL; B-IL; C-IV; D-I; E-VI

Which of the following statements is/are correct related to enzymes, hormones and organic
compounds ?

A. Enzymes lower the activation energy and then increase the rate of reaction.

B. Epinephrine is an amino acid derived hormone.

C. Pepsin is the most abundant organic compound on the Earth.

Choose the correct answer :

(1) A only (2) A and B only (3) Conly (4) A,BandC

DOBD €0, TS 0 BN VOAAD HeIFT® HBOD 1805 RS BS T3S’ DE/D 2y, ?
A QOB e |8airRered 8 SN (BSSI00) t585 BEN 0THEOW.

B. JOTDS 9T @S €500 & $T° €5¢53103), 000 FES.

C. VDI LErR @850 DeDYOM BT DOAAD He0IFS0.

OB AITPEEI0 DOTNEDIW :

1) A Sy (2) ASDOAV B IFPSHD  (3) C ST (4) A, BX83» C
Which of the following is not included in the Sustainable Development Goals ?

(1) Quality Education (2) Gender Equality

(3) Population Growth (4) Life on Land

1808 T3S DE VS @DNSYD 5 TEYBTE ?

(1) g Teeageh 2) O DS 50

(3) 272> RS (4) TR 2SO

C. EE
iy (14) e
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41.

42.

43.

Which of the following statements about Dr. Vikram Ambalal Sarabhai is/are correct ?

A. Dr. Vikram Ambalal Sarabhai was honoured with the Padma Bhushan in 1966.

B. Dr. Vikram Ambalal Sarabhai was honoured with the Padma Vibhusan (posthumously) in 1972.

C. Hindustan Aeronautics Limited was founded by the honoured Dr. Vikram Ambalal Sarabhai in
1940.

Choose the correct answer :

(1) A only (2) B only

(3) A and B only (4) A,BandC

T ER ©0DEPS FT°2F0W § H00B0NS (80 5O IE/D DBID ?

A, T JED 0TS FTToN Q 1966 & HE B57AS & ¢8)80T.

B. @ & ®02erd oo o 1972 S D552 DEBTAET (SNSETS0SE0) (DTEI0 TIK.
C. 0TS T35 OWBE Q 1940 & & DEN ©0DEPS PT*ZFON FDOTTED.
OB DTG0 DOTNT R :

1) A S (2) B 3reD

(8) A B0 B S3(edad (4) A, B8 C

Arrange the following storage capacities of Computer Hard Discs in descending order :
A. Exabyte B. Gigabyte

C. Kilobyte D. Megabyte

E. Petabyte F. Terabyte

Choose the correct answer :
(1) E,A,B,F,D,C (2) AJE,B,F,D,C (3 AEF, B,D,C 4 E,AF,B,D,C
1Bo& Z055°5628 530 AR T¢3 FB28 Br¢3 S0 @SE e 50065 @30S

A D5)BE B. /@&

C. 85'B& D. rBS

E. 20¢rz3& F. Bo0zB&

QOB NAPGTEA0 DOTNT W :

(1) E,A,B,F,D,C (2) AEBFDC (3 AEFBD,C (4) E,AF B,D,C

Identify the correct statements from the following :

A. Ammonia is a colourless gas with pungent odour.

B. Commercially, ammonia is produced by Haber-Bosch process.

C. The production of ammonia is an endothermic reaction.

D. Commercially, urea is produced from ammonia and carbon dioxide.
Choose the correct answer :

(1) A, B and C only (2) A and B only

(3) A, Band D only (4) Cand D only

1B0& ¢36° DB s H0H0H :

@RS N 2.8 FOHB DFBIS 7 e A0 ).

B. 32350800, @9R353055) 2°208-25"0 (SO 758 eseh Y& DI K.

C. SR Esed 18D 2,8 (T 535,

D. o°e3235030MT, GO @RS 0B °E)S B &3)8 © N0G &eh) T,
OB VIGO0 DOTNEDIW :

(1) A, B SO C S (2) A SHOABW B S
(3) A, B 0805 D Sr(edad (4) CHOAN D Sr(ehad

>
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44. The correct order of the thermal conductivity of the materials is :

(1) Aluminium > Copper > Silver > Lead
(3) Silver > Lead > Copper > Aluminium

(2)
(4)

Silver > Copper > Aluminium > Lead
Lead > Silver > Copper > Aluminium

DT e8¢SO (thermal conductivity) G308y SO (K0 :

(1) ©OOTEDAONO > 5200 > DD > B&
(3) 200> BE > 506 > WATEMAONO

(2)
(4)

2058 > 52955 > @ersHA0N0 > BE
B& > 2055 > 5205 > 9TEMA0HO

45. Match the respiratory surface adaptation with the organism :

Respiratory Surface Adaptation Organism
A. Tracheal System 1. Fish
B. Gills II. Insects
C. Lungs III. Terrestrial Mammals
D. Skin IV.  Earthworm

Choose the correct answer :
(1) A-I; B-II; C-III; D-IV
(3) A-III; B-II; C-I; D-IV

(2)
4)

A-IL; B-I; C-III; D-IV
A-IV; B-I; C-II; D-III

088 GNOS NS (respiratory surface adaptation) & Q) 2B 23580

F (08 G830 @IS EN)
A LT D599 L 39
B. R0J)e0 II.  8&sen
C. &8N L 25002005308 §Scren
D. 80 IV. P0Pdm
OB DTG0 DOTNT R :

(1) A-I; B-IL, C-III; D-IV
(3) A-IL B-IL; C-I; D-IV

46. Health Anxiety is also known as

(2) Hypochondria

(2)
(4)

AL, B-I, C-III; D-IV
A-IV; B-I; C-II; D-III

(1) Hypnagogia (3) Melanoma (4) Hypoglycemia
8150 2 BSOS @Q §5r@ ©0erd.
(1) &H)FAoST (2) TFORAT (3) OSSP @)  ZTTRNST

47. Which of the following statements about pH are correct ?

A. pH of a solution is equal to — log[H].
B. pH is expressed on a scale of 0 to 14.

C. pH value less than 7 indicates that the given solution is alkaline.
D. The gastric juice produced in the stomach of the human body is acidic.
E. The normal pH of healthy human blood is around 6-5.

Choose the correct answer :
(1) A, B and C only
(3) C, D and E only

(2)
4)

A, B and D only
B, C and D only

[e]

pH 393F5, 1808 a7¢3" &) & 525e0 OB ?

A (TPHE50 A30EY pH, — logH] $%0 S83d0.

B. pH &0 0 0& 14 FOSTI0ES 8355080,

C. pH Qe 7 0T 58023 GOT) €8 (eI T8 (easdw D Gs0en0od.

D. 3788 38506° Ecr)eS’ s ) e85 5N S0 €36 3895k EOR G0N0,
E. 855503 1A 350 By reorden pH Densd Grers) 6°5.

OB QPGP0 DOTNT R :
(1) A, B 8050 C Sw(5ad (2) A, B 0050 D Sr(ehs
(8) C,D HBAW E Sr(edad (4) B, C 0805 D S

(16)
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48.

49.

50.

Consider the following statements about the human DNA :

A. Human DNA is composed of two polynucleotides.

B. Adenine (A) pairs with Thymine (T), whereas, Guanine (G) pairs with Cytosine (C).

C. The G - C pair has two hydrogen bonds, whereas the A — T pair has three hydrogen bonds.
D. In humans, each cell contains 23 pairs of chromosomes.

Which of the above statements are correct ?

(1) A, Band D only (2) A, CandD only

(3) B, C and D only 4) A,B,CandD

3573 DNAS 50200500 1808 P50 H8Ke30c506b :

A. 3785 DNA B0 rOXT8arBE ©& §& G0otnod.

B. HOHNS (T) & IASS (A) 255, DETVS (C) & S (G) 23¢5ETCIS0A.

C. G-C 206 Bo 78S D0GTeN0Eron, 52 A — T 30665 e IPIERBS 20N 0Erow.
D. SS90, (96 £620 (cell) 6 23 23060 (§TRE SN0 EFow.

2 IO DD DBSD ?
(1) A, B 8050 D &r(e53 (2) A, C HO0SN D S5
(3) B, C HBS» D X5(ehadd (4) A, B,C X80 D

Eutrophication is a process in which a water body :
(1) gets polluted with toxic metals.

(2) gets enriched with nutrients.

(3) becomes deficient in nutrients.

(4) becomes clean and potable.

OOFE*DBAS @F (DEANS” D3 955

(1) DA B S'SFOS EeNNB0 9HS0A.

(2) FATOS NO0NX) O (enrich) @HSO0E.

(3) AT SH0 (deficient) €95)e0E.

(4) HESOT HBAW (BN @9NETOOM S50,

Consider the following statements :

A. Tropospheric ozone is a greenhouse gas.

B. The 1987 Nobel Prize in Chemistry was awarded for research on the Ozone hole.
C. The Ozone hole was first discovered over Antarctica.

Which of the above statements are correct ?

(1) A and B only (2) Aand C only
(3) B and C only (4) A,BandC
& (808 55O BN

A (005 &8N 28 (BSTTR 7050,
B. Sr0NS TR0’ 1987 STBS 2030608 8,8°S 30(¢90D D85CI8E ©DoD0d.
C. ®0er8ye352) JNAES &,E'S S0(H0 EDHFIDR0E.

2 55O DR OB ?
(1) A B0 B Sr(ehad (2) A DBAW C Sr(evdd
(3) B 0835» C S(ehad (4) A, BX8a%» C
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51.

52.

53.

In ecology, HIPPO stands for :

(1) Habitat Destruction, Invasive Species, Pollution, Population and Over-Harvesting
(2) Herbivores, Industries, Pollution, Population, Over-Harvesting

(3) Humans, Industries, Pathogens, Parasites, Organic Wastes

(4) Habitat Destruction, Indicator Species, Pollution, Pathogens and Over-grazing

BrS8ea 3 N0 (ecology) S HIPPO €90 :

1) QO NBZ000 (Habitat Destruction), i@ 2°¢oen (Invasive Species), SN0 (Pollution), 2307y
(Population) $>805% e&E H0ES’ S (Over-Harvesting)

(2) °8)3°D) (Herbivores), O30 (Industries), 5°e0A50 (Pollution), 23072 (Population) 805 €&
Do’ (Over-Harvesting)

(3) drdeden (Humans), DOFen (Industries), §OSSsen (Pathogens), DT°)22:den (Parasites),
VOO H5T°en (Organic Wastes)

4) AS APS0J0 (Habitat Destruction), Q@D 23°¢%en (Indicator Species), 5°enA§0  (Pollution),
sO5E5eeN (Pathogens) $DOO @G Joeh 0ONBO (Over-grazing)

Consider the following statements with regard to Black Carbon :

A. The main sources of Black Carbon (BC) are open biomass burning, residential burning of cooking
and heating, and fossil fuel combustion in vehicles.

B. Burning in agricultural areas during dry seasons in developing countries results in release of
considerable amount of Black Carbon each year.
Which of the above statements is/are correct ?

(1) A only (2) B only
(3) Both Aand B (4) Neither A nor B
28 28R 30 H0220HOD) (80 5w HBNBF0H0Eb :

A. 25 5°3)S (BC) TB0E), (D5 SIS0 1 78 2TIFETR D0, RIS S0 HBAN SBTOHEI0
T 50° D3 SDOEIEN HBAN J":JW’@G 323 RO AOIF0.

B. @8J9Q Tod) B & DS o (dry seasons) S5SAD (OO TR G0 SO (D6
0056550 $EQANTD INB0ES’ 238 5°5) S (BC) DA 95)e08.

2 DO DE/DD DBISE/D ?
(1) A Sr|edad (2) B3
(3) A 8% B Bodkw (4) A 8% B 3ok 5°¢0

According to Environmental Protection Agency (EPA), which of the following are the criteria for air
pollutants ?

A. Particulate matter B. CO (Carbon monoxide)
C. N,O (Nitrous oxide) D. Ground level Ozone
Choose the correct answer :

(1) A, Band D only (2) B, Cand D only

(3) A, Cand D only 4) A,B,CandD
D085 HBBE 69 HDOR (EPA) [D5°8a50, a3°050 500§ SE50E0 (808 ¢3S D (376350 (Criteria) ?
A. 88 & sPenrsen (Particulate matter) B. CO (8)S Irxr3)R)

C. NgO (S 3 &) D. 3o Jow &HEW

OB DTG0 DOTNT AW :

(1) A, B 0835w D S(edad (2) B, C 0805 D S
(3) A, C B3» D Sr(edad (4) A,B,C8a D
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54.

55.

56.

Arrange the environmental movements in India in chronological order :

(1) Silent Valley Movement, Chipko Movement, Appiko Movement, Narmada Bachao Movement
(2) Chipko Movement, Silent Valley Movement, Appiko Movement, Narmada Bachao Movement
(3) Appiko Movement, Narmada Bachao Movement, Chipko Movement, Silent Valley Movement
(4) Narmada Bachao Movement, Silent Valley Movement, Chipko Movement, Appiko Movement
23°5¢h TBFOS'Q DT3B E5CI5ITO 57°¢3 520 |ESTIT SO €180

(1) DBOE 5 &C55500, DY, €500, eI E5CI500, SEIT® DTS’ €550

(2) DY &5, DBOE 5O &5¢I500, @DIF &CI500, BT DTS’ E5eI50

(3) eIE &350, SEITT DTS’ €550, DY ECI500, DBOE 5O &350

(4) S8 DTS ECI500, DBOE 55O ECI5600, DY, 550, €928 &¢I 5600

Two statements are marked as Assertion (A) and Reason (R).

Assertion (A) :

Stratospheric ozone depletion is a concern due to increased UV radiation reaching Earth’s surface.
Reason (R) :

Chlorofluorocarbons (CFCs) release chlorine atoms in the stratosphere, which catalyses the
breakdown of 0zone molecules.

Choose the most appropriate option from the following :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

BOC ISV DS (A) 0OAN 57930 (R) T Q3 DOTT S :

B DESeD (A) -

[T ESERINST 4.8 §6ed OO F BwE) GHOSOONE TES UV BAOHAS B0 e0EHS
EORAN0A.

5090 (R) -

[T ESSE0S FEFTTE)S ev (CFCs) §8S HOITeMIHOD BB TXo®, @ &8S @nde
DA YTA), Eo(B)BE DB OW.

B0 ¢3S 9855065 S$AD BN YT D) §F0 :

(1) (A) 8AW (R) BOCE® SO B3 (A) B30EY O8N DB (R).

(2) (A) DB (R) B0 O8I 5°Q (A) TBnEY B DB (R) 5°C%.

(3) (A) SBDIY, 5°Q (R) QDA 5°¢0.

4) (A) BRI 578D, 520 (R) SORDDIA.

Arrange the following Environmental Conventions and Protocols in chronological order :

A. Kyoto Protocol

B. Paris Agreement

C. Montreal Protocol

D. Stockholm Convention on Persistent Organic Pollutants

Choose the correct answer :

(1) A,B,C,D (2 C,D,B,A 3 C,A,D,B 4 AC,B,D
1BO& HT5e3BED DSTRF°eN DO (TS & 5PESTOIBOMT @080 :
A & 1SS

B. Jr82 oAS00&

C. Xrol3aHs |&&sS

D. QB0SS DOIOOH SRS SPETO D 6 & HSPSI0

OB NATPER), DOTHE W :

(1) A,B,C,D (2 C,D,BA 3) C,A,D,B 4) AC,B,D
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57. Consider the following pairs :

Ramsar Sites State
A. Rudrasagar Lake : Uttarakhand
B. Nanda Lake : Goa
C. Ansupa Lake : Odisha
D. Sur Sarovar :  Madhya Pradesh
E. Nal Sarovar : Gujarat
Which of the above mentioned pairs are correctly matched ?
(1) A,Dand E (2) B,Cand E
(3) A,Band C (4) B,CandD
&2 (808 25O DBKEZ0TAW :
0% 6 DEV 0% a0
A, BEOIHEE SN . &S0k
B. oo dE™) ;o
C. 3PN B ¢ 2&ar
D. D O8XE DG B
E. &S 0856 VY-S0
20 DTLR), @ B3den SO SO JDAT AN ?
(1) A,DNBAHE (2) B,COAWE
(3) A, B 8w C (4) B, Cd8c» D

58. Which of the following mineral has not been identified as a critical mineral for India in
2023 by the Government of India ?

(1) Cobalt (2) Copper (3) Chromite (4) Tin
808 7e3¢S° IO 2023 S’ 2rBHTFAE EOETS DABOTT 2378 eh (92505 50T K802 ?
1) Ter 2) of 3) DS 4) K30

59. Which of the following Aluminium plants is/are correctly matched with their location ?
A. HINDALCO : Renukoot

B. BALCO :  Korba

C. NALCO :  Asansol

Choose the correct answer :

(1) A only (2) A and B only
(3) B and C only (4) A,BandC

808 ¢3S &) OPENION0 F0ES (e0) 7¢3 TS0 DO HOFEaW ?
A. oSy . BOETES

B. oS . Fo)

C. oy : od8FS

OB QPGP0 DOTNT D :

1) AP (2) A DBAW B Sr(ebadd
(3) B 0B05® C Sr(ehad (4) A, B85 C

C. EE
I (20) Ee
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60.

61.

Consider the following statements regarding the black (regur) soils found in India :
A. Black soil is the 3™ largest soil group in India.

B. They got their parent material from Cambrian period lava.

C. They have high water retaining capacity.

D. They are deficient in Iron.

Which of the above statements are correct ?

(1) A and C only (2) A, Band C only

(3) B, C and D only (4) A, BandD only

28¢5 BF0S EQNOT SO FOOZ (BHBE) HODOEODN 180 T HOKEB0TI0H :

A 3O Teen a3rSes TI0S S05°¢hs D Ted DeTo0.

B. @9 S0D0NS 5700 €77 DO ¢S Sehe) DITPTR), PO ON.

C. @ @S Je3D DeNNTT 0T, EOR 0ETow.

D. DSBS D8S S°HO &ENod.

2 TIDEOS DR DB ?

(1) A 0B35W C Sr(ehad (2) A, B8O C Sr(edad
(3) B, C 0H80S» D X5(ehadd (4) A, B08A% D S5°(e¢hadd

Consider the following statements related to the term “Kallakkadal” :

A. The phenomenon locally referred to as “Kallakkadal” in Kerala, is where the sea surges into the

land, causing inundation of coastal areas.

B. These are flash flood events that take place without any noticeable advance change in local

winds.
Which of the above statements is/are correct ?
(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
808280 @3 D8 H0VO0HODN 180 5D HBHB0N0S :

A, & B9hsaaird), 3EES FIEOM "EDE)RS" @ DNV, ALY DSW(0 B DY (HIF0D
BEOTO SNOTTEIS0E.

B. 2 FQ% 5770 ens30e3 HeQ0TIRAS 537650 BROE HOZNOT 0SS 9B DOEISEN.
2 DS DA/ HBIE/D ?

1) A SrSD (2) B IS

(3) A NBAW B Bo&ky (4) A DB B BOKY 55

C. EE
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62.

63.

Consider the following statements :

Assertion (A) :

The monsoon enters West Bengal and Bangladesh from the south-east instead of from the south-
west direction.

Reason (R) :

The Bay of Bengal branch of monsoon wind strikes the Arakan Hills along the coast of Myanmar.
These Hills deflect major portion of the above said monsoon wind branch towards the Indian
Subcontinent.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

508 55D HBKeF0H0sb

B DESeD (A) :

2005957 D)o TOTPS HOAN DOTTT SE FHE BF 0B SEOT ST OH OF OB (ST 0.
5°C00/0a33 (R) :

DOTPE TS5 2VENITE T NOANT*2E BB0 OB &) OBTS FOHDD TESHOB. & FocheD DS
THIYDED 20DSTO TP’ VY 23T, 2GS GIPOBO R DY oW .

DB DTG R, DODE TOMW :

(1) (A) OB (R) BOT D230 HOAW (R) ©9FE (A) TBEy OB S DSGea.

(2) (A) 8350 (R) BOGT D230, 5 (R) 9T (A) T3E) OB VeI 5°¢%0.

(3) (A) D20, 5 (R) 3,

@ () 8Dy, D (R) d20.

Consider the following statements in relation to Tropic of Cancer and Tropic of Capricorn :

A. In India, Tropic of Cancer passes through the States of Rajasthan, Gujarat, Madhya Pradesh,
Chhattisgarh, Jharkhand, West Bengal, Tripura and Mizoram.

B. The Tropic of Capricorn passes through the country Bolivia.

C. The city Rio de Janeiro is one of the closest cities to the Tropic of Capricorn.
Which of the above statements are correct ?

(1) A and B only (2) Aand C only

(3) B and C only (4) A,BandC

800608 B SDOAN $0EE BDPEL H00EH0D) & (8OB T $5EID HONEF0N0M :

A. EST30S §om 08 B TBITS, HRTS, S 10533, BB 0B, K608, HYS Borrs, N
HBOIM ME’T0 T aTe HOE IS0,

B. %8 B SOOI BF0 HOE IS0,
C. B3 & 2T SHSSN IS BB 985065 SUSTT 93 SHTrereS’ 2,8¢3.

2 TIDEOS” DD OB ?
(1) A B0 B Sr(ehad (2) A DBAW C Sr(evdd
(3) B 0835» C S(ehad (4) A, BX8a%» C

C. EE
I (22) Ee
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65.

66.

Consider the following statements :

A. Bankura, which is in West Bengal, has a prominent silk textile industry.

B. Dewar, which is in Himachal Pradesh, has a prominent woollen textile industry.
Which of the above statements is/are correct ?

(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
B 505D HBKEFOTHHW :

A, 32350 BorrS S°Q 205007’ (D508 Y SR DBFN God.
B. S (D38 S Brd & (D30 &) SR HOED God.
2 5O DO/ IBIE/D ?

(1) A ISP (2) BT
(3) A NS B Bockw (4) A D8 B BO® 5%
Consider the following pairs :

Conflict Region Countries Involved
A. Lachin Corridor : Armenia-Azerbaijan
B. Ilemi Triangle : South Sudan-Ethiopia
C. Essequibo : Venezuela-Guyana
D. Halayeb Triangle : Egypt-Libya
Which of the above given pairs are correctly matched ?
(1) Aand B (2) AandC (3) BandC (4) BandD
Bo& 83> HOHFoTIHAW

DOV (O30 (3D DIVT) TFeen

A DS 8Ed : 8905r-0235 BerS
B. a8 [&ASrofS : 38 £ TS -QB AT DOST
C. D8 : JQeer-Kasrae
D. oo (asrofd : &82259)-ODAS>
20 TR, @ 2ehen BT SO Y2 AT 0w ?
(1) ASB8» B (2) A B3 C (8) BB C (4) BX8aA»D

Which of the following is the world’s biggest Permafrost Crater that is thawing due to global climate
change ?

(1) Batagaika Crater (2) Sherman Crater
(3) Karaha Crater (4) Vredefort Crater

B ISAVD 5B B0 EBANBID) (DINOHOSD @& DY F°F 5 O 2 se >0 (Permafrost
Crater) (808 FE3ST DA ?

1) &5 (3¢5 2) IS 30
(3) Sovor 3d 4) (SAQ 3eb

.. EE
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68.

Consider the following statements as per Telangana Socio Economic Outlook 2023 :

A. Telangana produced about 8% of the total rice produced in India according to the estimates for

2020 — 21.
B. The total area under paddy in 2015 — 16 was 25 lakh acres. By 2021 — 22, the area under paddy

increased to 97 lakh acres.
Which of the above statements is/are correct ?
(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
SO Padr3E @308 598)P0 2023 (D550 808 S §DEOD DBHeI0d0& :

A. 2020 — 21 @O (DGO 2rBSTIOS” tseh)ed TR ZNB0 DOV BOOMPE) T HO T 8 F°H0
(%) &858 TR0,

B. 2015 — 16 & SOFH INTO TNSBO 25 O DETEN. S 2021 — 22 F°¢38 SO V0o 97 ©F©
Q8T8 DOA0.

2 5DIOS DO/ OBIE/D ?

1) A Sred (2) B Ire

(3) A B8 B Bockr (4) A B3N B BOr 5°0)

Consider the following statements about rainfall in Telangana State :
A. South-West monsoon rainfall accounts for about 80% annual precipitation.
B. South-West monsoon arrives during June and lasts until September.

C. Tropical cyclones form in the Bay of Bengal, which, along with the North-East monsoons bring

rains to South Telangana.
Which of the above statements are correct ?
(1) A and B only (2) A and C only
(3) B and C only (4) A,BandC
BOOrED U7 STIeH0 HO0D 0B a5 5 HBIO0I0H :
A, DS 20057° STFe$0, 3OS @550 ) 80% 250 HBE GOLNOE.
B. SXH& a0eddaren 378 S0 & (PS0E S De02d S50 Hoeram.

C. 20MergresocS DI GRNOBO ITTNEN, A 20IITOS Fen 5§ SOOI ST
SION.

2 55O DR OB ?
(1) A B0 B Sr(ehad (2) A DBAW C Sr(evdd
(3) B 0835» C S(ehad (4) A, BX8a%» C

C. EE
iy (24) e
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70.

71.

Consider the following pairs :

Particularly Vulnerable State
Tribal Group (PVTG)
A. Asur : Tamil Nadu
B. Gutob Gadaba : Andhra Pradesh
C. Kolam : Maharashtra
D. Riang :  Manipur
Which of the above mentioned pairs are correctly matched ?
(1) Band C (2) BandD (83) AandC (4) AandD
808 BN H8RBod0d :
(SEE @S AB2:S ovaio
Daddro (PVTG)
A D : SNF°CD
B. &S derer : 0 (0BT
C. Soo : DI
D. 8a%roh : 36
20 DTL) @ 23den QB 235DSIDAT0W ?
(1) B8 C (2) B8 D (8) A B C 4) ADBAWD

Consider the following statements as per the Ministry of New and Renewable Energy, Government

of India (Annual Report 2022 — 23) :

A. Rajasthan has the largest cumulative solar power installed capacity in the country as of
December 2022.

B. Telangana has the 5tb largest cumulative solar power installed capacity in the country as of
December 2022.

Which of the above statements is/are correct ?

(1) A only (2) B only

(3) Both Aand B (4) Neither A nor B

28¢5 |H20B 0 TINEY S77eHS S0BAN HIKTNINE RORS 00(e3¢h ¢ 3o (708 ABAE 2022 — 23) (HS°S0
8o arsse HBKeF00sb ¢

A. &0 2022 °¢38 TS T N0 TI0S” @98 DG HOD FPSFE 55570 l0TEQ), EOA &0 d.

B. G025 2022 °¢38 S0 TR0 B30 585 08 28 HoDd B3 S59TNS e0TEd), $O
GO&.

2 55O DE/AD HOTOIE/ ?

(1) A7 (2) B3

(3) A 8% B Bodskr (4) A 83 B Bohe 5%

Following are the names of places/locations which were mentioned in the news during the
2020 — 2021 India-China standoff along LAC (Line of Actual Control) :
Arrange the below places in sequential order from North to South :

A. Galwan Valley B. Hot Springs

C. Depsang Plains D. Pangong Tso North Bank

Choose the correct answer :

(1) A,D,B,C (2) C,AB,D 3 C,B,A,D 4 ACD,B

rBH-Tor DOTVSD S dodholehen T  (LAC) SodB 8¢ (DBRN0BS  DevoHhods',
2020 — 2021 & DS STHIPE’ (DTDOIDAS (FPOT/QeTe 2B 80 QS §0TON.
808 Qe GBS0 0B B TIE SN (5006 eS8 0B :

A, dersS SO B. 5% ()00

C. B>rHoh DToeen D. o roh & x°0 2508

DB DIFETTR), DODE TOWW

(1) A,D,B,C 2 C,A/B,D 3) C,B,A,D 4 ACD,B

C. EE
I (25) Ee
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72.

73.

74.

Arrange the following islands of Japan in sequential order from North to South direction :

A. Shikoku B. Hokkaido C. Kyushu D. Honshu
Choose the correct answer :
(1) A,C,B,D (2) B,D,A,C 3) D,ACB 4) C,B,D,A

B S 80A BHOX GBS0 0B 5869 BFVLE SED EX00 90808 :

A 2% B. IFs.0n& C. &g D. &
DB DIFETTR), DODE T3OMW
(1) A,C,B,D (2) B,D,A,C (3) D,A,C,B (4 C,B,D,A

Consider the following statements :
A. In India the first Jute factory was established at Rishra.
B. Jute industry is mainly a raw material based industry.

Which of the above statements is/are correct ?

(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
Bo& 550D HBHe30d0 :

A, 278 BF0S, BCIES 23503 HBFD FEES' BErS’ FPDOTIDAI.

B. 233078 HOFe (DGO e0GIRE &88¢b HB|Fe.

2 DO DE/DD DETDIE/D ?

1) A Sred (2) B S5

(3) A N85 B Bockr (4) A D805 B BOr 5°0)

Consider the following statements related to Road Transportation (2021 — 22) in Telangana State as
per the Telangana Socio Economic Outlook — 2023 :

A. Telangana has a total road density of 97-49 km for 100 sq. km.

B. Among the districts, Hyderabad has the highest road density followed by Medchal-Malkajgiri
and Ranga Reddy districts.

C. The total road network in the state including National Highways is 1,04,277 km.

Which of the above statements is/are correct ?

(1) A only (2) B and C only

(3) A and B only (4) A and C only

BOOme Sres @08 @HSens - 2023 (D530 B0 TR0 ST Sorer (2021 — 22) 8

S020H0N (80 &sw5D HBKB00b :

A. BomrereS 1563 100 5. 8. erBE0 B0 9749 8., SIS FF0(C5¢h GOA.

B. 2o 8 33(irerd @ehsdE S o[ EOR 0. U SEOM 30 )S-dver)es A, Sorrdt
BTN ) OW.

C. TR0’ Bweho F TS5y, 270D STTHoOS §O 1,04,277 8.20. ™ &od.

2 5O DA/ HOTOIE/D ?
(1) A Sr(edad (2) B HOAW C S
(3) A X0B05W B Sr(ehad (4) A SDHOAW C S
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76.

71.

Consider the following statements about Isotherms showing horizontal distribution of World
temperature :
A. Isotherms run in an East-West direction and are generally parallel to the latitudes.

B. Generally, isotherms are straight but they bend at the junction of continents and oceans due to
differential heating and cooling of land and water.

C. Isotherms are more regular in the Northern hemisphere than in the Southern hemisphere.
Which of the above statements are correct ?

(1) A and B only (2) B and C only

(3) A and C only (4) A,BandC

(DNON &eF(ied BEYy 8§32 Ddr0dS DB 0 e O (Isotherms) HOOD §0& °§W5EID

D8KZod0dk :

A IR BDED SPE)-DNS OIS S0LTroN HBON SO OFTOTOH HITFOSSOT DIBOD
CsOEON.

B. eS0T, O3 DDEN S0ES S0 (straight) GOET0D, 570 257 DO eI TBwg) I 0805w
25D (DBANS ST GO @ (isotherms) DOTTED NDOON NISW(ETEN DD
roseeS’ S0f E0trow.

C. I3 Bew B8 e7d FgoeS 508 BT Y FFoeS B0 E0DDOM EoLrow.

2 TIDEOS DR OB ?
(1) A B0 B Sr(ehad (2) B OO C S
(3) A X0B3W C Sr(ehad (4) A, BX8a%» C

Consider the following statements :

A. East Australian current is a warm ocean current located in the Pacific Ocean.
B. West Australian current is a cold ocean current of the Indian Ocean.

Which of the above statements is/are correct ?

(1) Only A (2) Only B

(3) Both A and B (4) Neither A nor B

808 TPEW O DEHEF0THW

A, S S VOTNS DN [HDTHTO 9RE HADE s0TFSWS0ES’ €5 E3’ad DSNIES (DTT0.
B. 3 S[ROANS D50 [HDTT0 9 SFOT s3I0 €55), Behed Hadn|ed (s O.
2 DO DE/DD DETDIE/D ?

(1) A Sr(edad (2) B3

(3) A N85 B Bockr (4) A D805 B BOY 5°0)
Which of the following pairs is not correctly matched ?

(1) Kunwar Singh : Led the revolt in Bihar

(2) Hazrat Mahal : Led the revolt in Lucknow

(3) Rani Lakshmibai : Fought against the British with Tantia Tope

(4) Azimullah . Led the revolt in Murshidabad

180B 25> IO HBS 235 57D ?

(1) 50555 2oh . DB S BBoerendd PONEB S0 SIPOTTCE

(2) FBES DTS 1 ©OF) S BBHPENZ TP0NEH L0 S0
(3) o3 o eron 1 TOBAH S EDV (D3N O SsABEOMT FT0 TR0
(4) ee8sner D S08merS S BEMHFEN TPODES S0 HIPOTTCR
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79.

80.

81.

Consider the following statements :

A. The Government of India Act, 1919 provided for simultaneous Indian Civil Service Examination
to be held in India.

B. The first such examination was held in Allahabad in 1922.

Which of the above statements is/are correct ?

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

808 (DB HBKEI0H0E :

A. R0OGONS VIS DD DB VEF0S’ 2rESTI0S JBSeFOTEONE 1919 2rSeh (205§ IO
B0 B06.

B. & D850 J0¢5¢3 8 1922 &S @955 rE S B SoTr0T .

2 DO DO/ DBISE/D ?

(1) A ISP (2) BT

(3) A NOBAN B Dok (4) A D8 B Bo® 5%

Consider the following statements about social reformer Bal Gangadhar Shastri Jambhekar :

A. He started the first Anglo-Maratha newspaper — ‘Durpun’ and the first Marathi monthly
magazine — ‘Digdurshun’.

B. He is also famous as the ‘Father of Marathi Journalism’.

Which of the above statements is/are correct ?

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

D00 Do 23ed> Ko 77X 2302385 0 H0D0EO0D &k (8O 55 HDOREZ0RI0EG :

A, S0HS INEBNCES SON-0T8 a8 H(BED — 'S )ET B ‘BRIYED" €95 BEIRNNE3 HT*E 53
DEED (PB0DOT.

B. 0D 008 238) D258 eIV T 2 SOITPOTICR.

2 55O DE/D DBIE ?

(1) A7 (2) BT

(3) A N85 B Bockr (4) A D805 B BOy 5°)

Who among the following was the Constitutional Advisor to the Constituent Assembly of India ?
(1) Alladi Krishnaswamy Aiyyar (2) B.N.Rau

(3) K.M. Munshi (4) S.M. Mukherjee

2 B5T3¥ Tre3 500 D25B0 TPe3 501 DESTFTT S &3 (80 S’ DS ?

(1) G $HR5D ©aDd 2) DI T

(3) B, 30 @) VS, Swpd

Which of the following statements is incorrect ?

(1) Thai Pusam festival is observed every year in Tamil Nadu.

(2) Rongali Bihu marks the harvest festival in Uttarakhand.

(3) Sarhul is a harvest festival celebrated in Jharkhand and Bihar.

(4) Moatsu festival is celebrated in Nagaland which marks the farming season.

806 DBIBIOES IO IBIE 57D ?

(1) OD F0 HOHD ST’ (D D0 IBE0 BEIYZOETED.

(2) B0 DIV &BTPO& S HOLIE HOH.

(3) FDS OTE HFG0& HOAW D536 O’ BHNZO HOELIE DO,

(4) D0EN) DOCHED TTer0& € S5STOD SO0 (RBQ) (PE025 DOCHEMT 23¢50:)B00ETS.

C. EE
I (28) Ee
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83.

84.

Which among the following statements are correct ?

A. Gwalior Gharana is known for Dhrupad and Khayal music.

B. Kashi Gharana is known for Tappa form of classical Hindustani music.

C. Lucknow Gharana is known for Khayal music.

D. Indore Gharana is known for Khayal music.

Choose the correct answer :

(1) A,B,CandD (2) A,CandD 3) A, BandD (4) B,CandD
&3 1808 (DBIRIS” D HBID ?

A, 1CODE O BASrS HoferdS DN 0T (DIQTOOOA.

B. &ar) 88 rodrard Hofich PoIETANSNSE) 58 0TS (0O ToB0d.

C. BASrS HoAEA8 8 0T (DD ToLOA.

D. 2080 S BosrS HoferdE (D0

DB DIFETTR), DODE TOMW

(1) A, B, C 850 D (2) A, CHéA»D (3) A,Ba»D (4) B,CH6a»D

Which of the following pairs are not correctly related to each other ?
A. Bharatanatyam : Carnatic Music

B. Sattriya : Ankiya Naat

C. Mohiniyattam : Kutiyattam

D. Kuchipudi : Kumil

Choose the answer :

(1) Aand D (2) AandB (3) BandC (4) CandD

1B0B e3S’ & BN 28 TITEES HBT H00K0 EOF SaY ?
A BBdrerso ;¢3S Sofdso

B. &8 : @080% &

C. JIrPAATE0 1 Hoe3aseeyo

D. 30QIE HESVAVO)

QXTI DOVE TV

(1) A8 D (2) A8 B (3) B8wC (4) CBAD

Arrange the following Satyagrahas chronologically as per the year of launching :

A. Munshigunj Kali Temple Satyagraha

B. Vaikom Satyagraha

C. Nasik Kalaram Temple Satyagraha

D. Guruvayur Temple Satyagraha

Choose the correct answer :

(1) A,B,C,D (2) B,A,D,C 3) C,D,A,B (4) B,A,C,D
&3 (808 IS0 @99 (2S00 ES D05 YB3 (aedDEEM €950 Jod

A, SNQB0 5@ TIrOAD &350

B. R8a0 &g feTedm

C. T°VE S0P BIPOOD D&Y

D. DRS00 B0 H&B°( 5T

QXTI DOVE TAVW

(1) A,B,C,D (2) B,A,D,C (3) C,D,A,B (4) B,A,C,D

Q!
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85.

86.

87.

88.

Which of the following statements is/are true ?

A. The Deccani culture created by Qutub Shahis was an amalgamation of cultures of native Deccan,
North Indian, Turkistan, Arabic and Persia.

B. The Qutub Shahi court consisted of foreign immigrants known as Habshis.

Choose the correct answer :

(1) A only (2) B only

(3) BothAand B (4) Neither A nor B

B0 F5WIOS” DA / D HOTDSD ?

A, B0SE Teren DYRODS B85 HDODLH TS 58) NS 2w, ES arSSTIFN, 0TS, BDOST
SDBAM DA DO et O Forows.

B. JTF® D0 SO B0 aLered eSS0 & VEIGS 570 PN O S.

DB DTG D0DE DAV :

1) A Sred (2) B 3reD

(3) A NS B Bockw (4) A D8 B BO® 5%
Which community was engaged in making slivers of cotton ready for spinning ?
(1) Netakani (2) Devangula

(3) Kunche Erukula (4) Doodekula

&1 (808 B’ & 580 % TS0 SCHETRE DB JHENTT TR VY0 TP ?

1) I (2) TohH©

(3) 00T DD 4) T

Which of the following texts provides the earliest reference to veedhi natakas ?
(1) Basava Purana (2) Nrittaratnavali

(3) Ranganatha Ramayanam (4) Panditaradhya Charitra
&3 1808 (HOPINOS’ DB DO T HBOD) FO (DTS SO0 ?

(1) 23 HT0 (2)  Sedsdes) &

(3) BONTGD T°AFOND0 4) JoSTTRS 98|

Consider the following statements :

A. Perini is one of the dance forms classified under marga nritta/nritya.

B. It was performed during religious rituals.

C. It was developed by the lenkas and nayakas possessing martial skills.

D. Vira Saiva followers spread this dance form at Palampet, Hanumakonda and Warangal.
Which of the above statements are correct ?

(1) B and D only (2) A, BandC only

(3) B, C and D only (4) A, BandD only

&3 (808 |DBIRION HOHEFoTHAW

A, D03 S9ehs0 530 S9evsBRS 28 2.

B. &8 595550080 s0SIERS eirorede’ 19680 T 3.

C. & 985883 ANRDTYES0 K BoZeN HBAN T*OHZVED ENYQ TAODB.

D. & 39583 DS 35 @TIEEN aFO0 L), sTNTOCE S0BA50 FB0HS &' asDONTIS.
& DHBODS BRI D DB ?

(1) B 0805 D S(ebadd (2) A, BB C Sr(edad

(3) B, C 08050 D S(¢bad (4) A, B80S0 D Sr(ehad
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89. Match the following temples with the places where they are located :

gawp

Temple

Nagaresvara Temple
Erakesvara Temple
Rameshvara Temple
Chennakesava Swami Temple

Choose the correct answer :
(1) A-I; B-II; C-III; D-IV
(3) A-III; B-I; C-1V; D-I1
1808 BITOOTOK @) &), (0T 2SSV :

A.
B.
C
D

v iSleVie;

SKB358 Tare0H0
DEBF B B0
"5 §8 Bare0H0

. B BES A BIrOANO

OB DTG0 DOTNT AW :
(1) A-I; B-II; C-III; D-IV
(3) A-III; B-I; C-IV; D-II

90.

construction :

A. Malwala Palace

C. Falaknuma Palace

E. Paigah Palace

Choose the correct answer :
(1) A,C,D,E,B

3) C,A,B,E,D

A.
C.
E.

DB DIFETTR), DODE TOMW
(1) A,C,D,E,B
3) C,A,B,E,D

91. Bhaskara Ramayanam was a composite work written by five authors. Identify them.
(1) Mallikarjuna Bhatta, Maraya, Bhaskara, Hulakki Bhaskara and Ayyalarya
(2) Mallikarjuna Bhatta, Kumara Rudradeva, Bhaskara, Hulakki Bhaskara and Ayyalarya
(3) Bhaskara, Hulakki Bhaskara, Maraya, Ranganatha and Buddharaju
(4) Hulakki Bhaskara, Buddharaju, Maraya, Manchana and Ketana
2028 TPPARNEI0, 2.8 F (00 €9 2CNHB BHONBOT (TPANDA0R. T8 KHB0od.
(1) O 258, XTBO%, 27708, T8, 237038 0HBASN eOH§ETSs
(2) OIS 258, Eos3S B(STX), 27708, STV, 23708 DO eoaHgerSs
(8) 270y8, STV 237098, SFSO, BOKTTRICR OO 20PT 23

EF 5 FPFSBD
NOF DI ISR
P PSR

II.

III.

I
IL.
III.
Iv.

Place
Nandikandi
Vemulavada
Gangapuram
Pillalamarri

(2) A-II; B-1V; C-I; D-III
(4) A-1vV; B-III; C-II; D-1

(Poe30
S0HE0H
BAWSEe
lale]a¢Yelo)
SIS}

(2) A-II; B-1V;
4) A-IV; B-III; C-IT; D-I

B. Hill Fort Palace

D. Asmangarh Palace

(2) B,C,D,AE

40 D,B,C,E,A

BOA 7723 255773 0°¢3 QT°69 [PB023 063653530 €9 NDB0D) TS0 €608 )0 :
B. S &% 580

D. T N0 arfS

(20 B,C,D,AE
4 D,B,C,EA

(4) SV 25°0)8, 20QT®2, SISO, $DOW HOASN Teved

[e]

e
cReyfacrd
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Chronologically arrange the following palaces according to the year of beginning of their
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92.

93.

94.

Consider the following statements :
A. A fine Qutbshahi painting found in Diwan-i-Hafiz belongs to Abul Hasan Tana Shah.
B. This book contains 15 pages of miniature paintings illustrating the portraits of Muhammad Shah.
Which of the above statements is/are correct ?

(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
&2 (808 55O DOBFOTSW :

A, @200 IS &R oF J TOAS émﬁ—a—é’fmﬂﬁoéé}o@ 30D IO ©9aYETIN0ND V(0 T,
B. &8 ((50R00 15 2280 60573028 2 DPE) HOD0E0DS O D@D SPOCNDENDGTON.

2 DO DE/DD OBIE/D ?

1) A SreD (2) BIreD

(3) A B B Boky (4) A BN B Bo&ky 59

Match the following stages of value chains with the actions proposed in the Grassroots Innovation
Framework of Telangana 2020-2025 :

Stages Action
A. First I.  Helping the identified innovators to develop their prototype further for the
proof of concept
B. Second II. Reaching out to the rural citizenry
C. Third ITI. Scale-up Fund to help grow grassroot innovations into micro and small scale
industries

D. Fourth IV. To scout for existing Grassroot Innovators and facilitate the creation of new
Grassroot Innovators

Choose the correct answer :

(1) A-III; B-1V; C-I; D-II (2) A-II; B-1V; C-I; D-III

(3) A-IV; B-I; C-II; D-III (4) A-II; B-III; C-IV; D-I

BOO™E (TR EreS) B8NS [ ¥ 2020-2025 S°Q e FeNMN IO (HBIFE0DS HEsOS

AT PO TN VN

adev S3Tf
A, INAEBE I 27330 AETHE FEEL 1H8002RS e3NTeN 9DNYE TS ST B0
DBFOHO TAHBO

B. Bo&3®  IL (rades PO BRS¢0

C. S L PR 8°¢) @089 P8 2 08050 D) G5 HBF0enm™ Brarocdessy
0955 DO HHEFE IS0

D. Treidd IV, @D)YEST &) (MR 857¢) 63D 80D ©9F §20IR0 S8 S3edd (TRETE )
SN Dy MBS0 TONLO

QOB DAY, DOTNT W :
(1) A-III; B-IV; C-I; D-II (2) A-II; B-IV; C-I; D-III
(3) A-1IV; B-I; C-II; D-III (4) A-II; B-III; C-IV; D-I

Which of the following policies of Telangana aims at making Hyderabad the most favoured
destination for investment in animation, visual effects, gaming and comics sector ?

(1) Telangana’s Artificial Intelligence Framework, 2020

(2) Electronics Policy, 2016

(3) IMAGE Policy, 2016

(4) Innovation Policy, 2016

1B0& °¢365" ASTFINS, 93555 127aren, Tadofh OGN 528 SorredesS 2rdTeerd SHoQ), eoedsodh
€908 BSOSO ONEIE GTFODS BLOTTED IS0 D& ?

(1) B0 EY&3 DE D056y, , 2020

(2) O[T A0, 2016

(3) @S (IMAGE) 550, 2016

(4) 88088 S0, 2016
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95.

96.

97.

Match the following relating to the universities in Telangana :

University Named After
A. Agriculture university 1. P.V. Narasimha Rao
B. Health university II. Konda Laxman
C. Horticulture university III. Kaloji Narayan Rao

IV.  Prof. Jayashankar
Choose the correct answer :

(1) A-1V; B-II; C-1 (2) A-I, B-III; C-IV
(3) A-III; B-IV; C-II (4) A-IV; B-III; C-II
BOOPS’ 0S8 Y350 H0220H0D 80E ¢3Q) 2BeHHBITVEM :

Q38 D38 DS’
A S5 OD DB DT §OONO I . Q. SBR0H T°
B. es8%5 ¥ saH0 II. Foch 025
C. &N DT sOAH0 Il 5% 50PN, O°e

Iv. SIS 8003080

OB DTG0 DOTNT R :
(1) A-1IV; B-II; C-1 (2) A-I, B-III; C-IV
(3) A-III; B-IV; C-I1 (4) A-IV; B-III; C-II

‘Minimum Inspection and Maximum Facilitation’ is the objective of the following policy of the
Government of Telangana :

(1) E-waste Management Policy, 2017 (2) Telangana State Pollution Control Policy
(3) Industrial Policy Framework, 2014 (4) Telangana State Higher Education Policy
808 e3¢5 5N $ID), B0 rereSsed’ ©F 0P EORD O (2065 § DEFS0 A ?

(1) E-5§8 QU870 D50, 2017 (2) SO0 T SN AONO(HED D0
(3) B[S DS 055y, 2014 (4) SO O td) b AT°§ D0

Match the following Labour Codes formulated by Government of India with the Number of Laws
amalgamated in it :

Labour Code Number of Laws
A. The Code on Wages, 2019 I. 3
B. The Industrial Relations Code, 2020 II. 4
C. The Code on Social Security, 2020 III. 13
D. Occupational Safety, Health and Working Conditions Code, 2020 Iv. 9
V. 8
Choose the correct answer :
(1) A-I; B-II; C-1V; D-III (2) A-1V; B-III; C-II; D-V
(3) A-II; B-I; C-1V; D-III (4) A-II; B-I; C-III; D-IV
23865 (525065 20 EFFOAODS (80O B §FE ©c0 ¢3S’ DGO TS TIEFS DOWE 236580 Yo
26 §6 LG DO
A BTFE sS IBD, 2019 L 3
B. & Q0(Q0HS SIS §&, 2020 II. 4
C. &F& sl FAS Ers6E3, 2020 III. 13
D. eS55ANSS ), T 805 $800 F0818) §E, 2020 IV.
V.
OB DTG0 DOTNE AW :
(1) A-I; B-IT; C-IV; D-III (2) A-Iv; B-1II; C-II; D-V
(3) A-II; B-I; C-IV; D-III (4) A-II; B-I; C-III; D-IV
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98.

99.

100.

Arrange the following Policy Initiatives in India in chronological order based on their year of
launching :

A. Rajiv Awas Yojana

B. Indira Awas Yojana

C. Pradhan Mantri Awas Yojana — Housing for All

D. National Slum Development Programme

Choose the correct answer :

(1) C,A,D,B 2 D,B,C,A 3) D,B,A,C 4) B,D,A,C
>r3B30S 1808 FSIETDS 3850 @3 (FPB0DONS HOSHIB0 SFEOT  SPed SIS0
IV VANWE

A T8 B8 BB

B. 20838 8570 a3

C. DFI0(S @R Are3dd — 700 HO e

D. 2S0% S088arched (Slum) @SHd Do

DB DIFETTR), DODE T3OMW

(1) C,A,D,B (2 D,B,C,A 3 D,B,AC 4 B,D,AC

Arrange the following Committees/Commissions for Scheduled Tribes in the chronological order
based on the year of their formation :

A. Dhebar Commission B. S.C. Dube Committee

C. Bhuria Committee D. Verrier Elwin Committee

Choose the correct answer :

(1) B,D,C,A (2) D,AC,B 3) A B,D,C (4) D,AB,C

RBFED B FEH DTYE TS (80 ENE3N/ENAS 00 e3 TN TS D035 IS0 esgrSorr
SHOTEINVINVEN o Te NI Mo VTNV

A BB EAS B. dR.. 03 5e8

C. 257805 ¢d D. 38AH0 IS Eel

QOB DT, DOVE TASNXW

(1) B,D,C, A (2) D,A,C,B (3) AB,D,C (4) D,A,B,C

Which of the following statements are correct in relation to NITI Aayog’s claims in its discussion

paper ‘Multidimensional Poverty in India (MPI) since 2005 — 06’ ?

A. Approximately 25 crore Indians escaped Multidimensional Poverty between 2013 — 14 and
2022 — 23.

B. It claims that based on the interpolation of the MPI estimates between 2005 — 06 and 2015 — 16,
the head count ratio for the year 2013 — 14 was calculated as 29-17%.

C. Gujarat recorded the largest decline in the number of Multidimensional Poverty Index (MPI)
Poor between 2013 — 14 and 2022 — 23.

Choose the correct answer :

(1) A and B only (2) B and C only

(3) A and C only (4) A,BandC

DS STFA S T NS0 2005 — 06 DHOA 27°8eh BFOS'Q 225TVXNYD DEBZ0’ (MPI) & DS §od

F$OS” D 8y, ?

A. 2013-14 OB 202223 G5 FOOS ) 25 FE PSSO 25TVIND DHBE0 o
FATOWTAN I oM

B. 2005 — 06 08050 2015 — 16 365§ MPI @03 R0LEFSAS 530 2013 — 14 00568 )0°8 v
B8,09) AN 29-17% 1 BE)0NDA0R &R0,

C. 2013 - 14 HO& 2022 — 23 1SS SO VSV DEBE SPDE (MPI) 28> HopseS’ eochsE § each
DTS S SIrZod.

DB DSFETTR), DODE TOMW
(1) A X083 B S(ehad (2) B O C S
(3) A B0W C Sr(ehad (4) A, B85 C

C. EE
iy (34) e
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101.

102.

Which of the following statements are correct in relation to ‘The Maintenance and Welfare of
Parents and Senior Citizens Act, 2007 ?

A. Maintenance of parents/senior citizens by children/relatives is made obligatory and justiciable
through tribunals.

B. As per the Act, senior citizen means any person being a citizen of India who has attained the age
of 60 years or above.

C. As per the Act, the State Government shall designate the District Collector as maintenance
officer.

Choose the correct answer :
(1) A,Band C (2) Aand C only
(3) A and B only (4) B and C only

'$O50(CEN NBAN DICHE 1E3BS) BT NOAN DOBN0 IO, 2007 SF HoVOLOD [§od
T3S A 8y, ?

A, S$DB0N/AIOND EZBS) TINEY BT 23°¢5H DLEN/20CVHO DO @ (€30855S ) T so°
T SONDEP0 TALDROA.

B. &8 980 (05760, DACHE De3BS @90 60 H0HSITOD BE® €8 2B 0D EOBS erdeh DTS
358,
C. & O (D50 T RUD20H 0 DONOEITS)) eNE T 286 EBEBD AOHNN0E.

DB DTG R, DODE TOMW :
(1) A, B&NS» C (2) A SO C S
(3) A 0B05M B Sr(ehad (4) B SHOAW C S

Which of the following statements is/are correct in relation to the disabilities specified in the Rights
of Persons with Disabilities Act, 2016 ?

A. Dwarfism and cerebral palsy are part of physical disability under this Act.

B. Acid attack victims are considered as persons with disabilities under this Act.

Choose the correct answer :

(1) A only

(2) B only

(3) Both A and B

(4) Neither A nor B

DEFOMHO T8 0 2016 &S DEYD) FEET5OE H0DO0A0D [§0A WO’ AE/DD 2y, ?

A & BYO (D580 DEHPBI0 08D VN DE°HO (cerebral palsy) 238 [0 (physical
disability) ¢’ gxrre.

B. & O30 |05°80 OSr& i 2@ dEerorentr H8KEeS .

DB DSFETT ), DODE TOMW

1) A SrSD

(2) B Sr(edad

(3) A X0 B oty

(4) A B B BOKY 5°%)

C. EE
I (35) Ee
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103. A statement followed by three assumptions are given below. Identify which of them are implicit in
the statement.

Statement :
In an appointment order from a company the following is mentioned :

“Your appointment in this job will be made regular after one year, if your performance appraisal by

your supervisor is positive.”

Assumptions :

I. The job will not be made permanent before one year.

II. The suitability of the candidate is not known at the time of appointment.
ITI. Temporary jobs need not require any performance appraisal.

Which of the assumptions are implicit in the statement ?

(1) All the three I, IT and III are implicit

(2) None of the three are implicit

(3) Only IT and III are implicit

(4) Only I and IT are implicit

1BOCHTP 2,8 (990, BOTOLIT S0T°CR) ERTED RDSDFOW, T°¢3S” D (SIS0 IWE ) 0.
(B335 -
2.8 50 TINEY D50 D0’ 180 DO DE L) :

& GESTIT Q ABNE) DOSTNE0 AT S$Bareh & AN IrNER80 50 Q DASI0 HognESonT
&0 BOVE IS5 15020 EB052EH0E.”

eI -

L &&560 dOE SnoB (E0200880t5¢%0 2388,

1L &E5H0S ACHWOT DSOS 92550 DoSSSE HDSTE BODL.
I &) OF &SOO8 ISR A0S D0 SEw.

1B0& °¢365" D (SIS0 D0 58T e 0w ?

(1) I, II, TIT e S0 Qa0 Gao°) O

(2) & rG0E3S DD WA B

(3) B30 II OO IIT 3575330 R o) O

(4) 3560 I 0805 IT 3775530 R &) O

.. EE
I (36) Ee
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104.

105.

A statement followed by three conclusions are given below. Decide which of the conclusion(s)
follow(s) from the statement.

Statement :

P, Q, R are three women and L, M, N are the husbands of P, Q, R not necessarily in the same order.
Three persons X, Y, Z, each made two statements; out of these two, one is false and one is true.

X : Pis not the wife of M. R is not the wife of L.

Y : Pis not the wife of N. Q is the wife of M.

Z : Q is the wife of N. R is not the wife of N.

Conclusions :

I. Ris the wife of L. II. Q is not the wife of N.
I11. Q is the wife of M. IV. Pis not the wife of L.
Which of the following is true ?

(1) I, I1, IV only follow (2) I, 1II, III only follow
(3) All I, II, ITI, IV follow (4) Only I follows

28 DIVI0 IDNI0HT e SNA0HEN YIFDFON. ADND  DIDII0 oA & Snfod(ew)
ORNIBT 3> APonoH0&.

(3632350 :

P, Q, R &0 S0MS svereen. L, M, N &0 o8 258e0 (2933 (509065 52590830 ).

S0MHE SN X, Y, Z 00 2.8538550 BO [DSTITren B SO & BoG0oe3S 2,5¢3 D50 SHBASN
NEEES e0deb50.

X: M 3308y 288 P 5°¢%0. L OBy 288 R 5°¢%.

Y : N SwE) 2088 P 5°¢%0. M adwg) 203858 Q.

Z: N o3&} 2088 Q. N 3308y 288 R 5°¢%.

aWAoen :

I. L O30y 28§ R. II. N W& 288 Q s°¢%.

III. M 33w8) 2788 Q. IV. L 3308y 278§ P 5.

1Bo& ¢3S D& 230 ?

(1) L1IL IV e Sebad @000 an (2) I, I, TIT @ S0°(¢5a0 @9 00870
(3) L 1L III, IV ©Q) e00OT00 4) I35 NN

A statement followed by two courses of action is given below. Identify which of the course(s) of action

to follow to address the issue in the statement.

Statement :

Our manufacturers are facing very tough competition to sell their products in international markets.

Courses of action :

I. Government should give attractive incentives to the manufacturers in lowering costs of
production, to produce quality products and to reduce prices.

II. Government should devise innovative policies, which include tax cuts, to support industrialists.

Which course(s) of action is/are to be followed to address the problem ?

(1) Only I to follow (2) Only II to follow

(3) Both I and II to follow (4) None of I and II to follow

2.8 (DHN0 BOTOLT Bocw BETO IS 5850 D DFTOW. (DSHVS0SR DS HDBXLTIZE &

258 5(@0) @Hd80TS HloTd.

(30323050

00 SOSTFETEEN 0BT B DDEFES® 6 e 18D ©5028%5¢06° EBIFS ¢3Q DT 0T &d.

3T5e -

L &e5)S AN HHOHEIEE, TSN Eed e HAITrOE SOAN °¢3 BN 803 &OErd3
19925065 £0 e35BEBONTS (P& YT SOSFETHOZ O yod.

IL FOIFNESBOZ ST DO &b DO HOFS FOJDOLH ErFrodowd.

D05 NI DA/ TIB(EN) K OO0 ?

(1) 13750 @O wren (2) 1L S5 ©NIBR Tren

(3) 10805 II B0y ©@NI80wO) (4) 10805 II e BOB® @NIB0TIY)
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106.

107.

A statement followed by three arguments is given below. Identify which of the argument(s) is/are

strong to support the statement.

Statement :

Should the admissions to the professional courses be allowed not through ranks in admission tests

but by the marks obtained in qualifying examinations ?

Arguments :

I.  Yes. It is beneficial to the students who cannot bear the fee for admission tests.

II. Yes. Many students who get good marks in qualifying examinations are not getting through the
admission tests.

ITI. No. The qualifying examinations conducted by several Universities or Boards do not have
common standard in conducting exams and evaluation procedures. Hence, it is necessary to have
a common evaluation of the knowledge of the students aspiring for admission into professional
courses.

Choose the correct answer :

(1) I and IT are strong arguments. (2) I, II and IIT are strong arguments.

(3) Only II is a strong argument. (4) Only Il is a strong argument.

28 (DINX0, T oG ey AN (80 ANLIBID. A/ FAIEN) AN (DSNTR), e

0PN B H8oHbo&.

(D3350

98 Ay FHIOS (DS3FTIB 1H3F HOZOS 07508 SFEoT H0E, @l I8EOS FOODD

S5B930SO (Da33°en 8 YOIy ?

TCSSED

L 990, (H3% D850 D2z 560N B T sersy Al enTROE.

II. @90, ©8% HBEOS 0D SrSpen FoOAS Trer OB Jsden (HFIH0E oS &aen S
BT .

II1. 5°C5. DA DFIDTOOTeN B Sen B0 HOF. AELTS M), Sorerso8s DSOS T
28 [ FXTe3Eeh B, 00N 598 DI sER YOS 1SR, NP DT DOZ H0DOEO0D DAADH
JBTRY, DB 0THENT 28 &o0IR e s0ES DGO ©5330.

DB DTG R, DODE TOMIW :
(1) TNOAW IT &0 22O redden. (2) 1, II 0835 IIT 20 20N °Ae.
(3) II S(eHad DO A, (4) I S 2ODS A,

Two statements are given below. With reference to cause-effect relationship, how are these two
statements related ?

Statement I :

From the last one year, the sales of newly constructed flats has decreased substantially.

Statement II :

Customers are not paying house loan Equated Monthly Instalments (EMI) to banks regularly from
the last few months.

Which of the following is correct ?

(1) ITis the cause and I is the effect.

(2) Iis the cause and II is the effect.

(3) T and II are the effects of two independent causes.

(4) I and II are the effects of the same cause.

180G BOKD (DS QS TTOW. SEL0, (DeTSS0e Geal's & BOR (DS &08S o> HoDOPE
SOH0EG ?

(933501 -

K85 H0NBIS ST FHMT DB 3¢ © 9057 HEaDOHOM SASFASToW.

(93255011 -

#e5 ), TN DATIFHTRED ROE3D BL0ES), €515 H00BO0D) DTS FOTE o (EMI) &0
2 $0B0OF I8 TOOHEO S.

1B0& ¢3° DO HBIE ?

(1) 1I 5230 S SDBON &) (DeTded 1.

(2) 15°8890 ST HBAN Q) (Deredad I1.

(3) 10805 II e DO DY) ST (DT S.

(4) 10805 II e 2,8 5322050 H0D0HODS (DT S.
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108.

109.

Three statements followed by two conclusions are given in the question. You have to take the three
given statements to be true even if they seem to be at variance from commonly known facts and

decide which of the given conclusion(s) logically follow(s) the statements :

Statements :

No bus is a car.

All cars are scooters.

Some scooters are cycles.

Conclusions :

I. Some cycles are definitely cars.

II. No car is a cycle.

Choose the correct answer :

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both the conclusions I and II follow.

(4) Neither conclusion I nor conclusion II follows.

1BO& (D%, 03¢ (DeITITTEN, & SO BOCH SMA0NEN RS LITOW. BD )N (DS en OOTTS,
DTG0 SOV HEPEOR TGO €5)0)¢38, ADIS (DS @6)E0MT 9 HIB0T HSMA0YOD
E08h08.

(2I3e3°eD

» 20 $ree 525 5.

5 Q) Ay 0.

), 05708 08909,

awAoen :

L ) 8809 ) )bomr 5.

I Q5o 0 DS so¢.

QOB DT, DOVE TANXW

1) S0A0Y T STSD O8N0,

(2) SN0 IT SR 9NN,

(3) S0B0HEN I DO II BOEF eI OW.
(4) A0 T HBASW IT O €9 DOB80IY).

Five men A, B, C, D and E (not necessarily in the same order) are sitting in a row opposite to five
women P, Q, R, S, T who are sitting in a row facing North, not necessarily in the same order. The
woman opposite to C is to the immediate right of T. P is second to the left of S. D is opposite to P. B
is not opposite to S and T. Q is opposite to the man who is to the immediate left of D. E is at the left
end of the men’s row. The persons opposite to C and Q are respectively:

(D R,B (2 T,B 3) AP 4) S,D

GSTESVPOMT 2,8 SIS ST IS), NS NTFFSS P, Q, R, S, T o050 (©B(E00 ¢ &0oddS030
Be) DR HEISIS” COHE HBDED A, B, C, D HO3W E o0 (98 100 SIS G0 Scd)
ErE0 )7 ).80. C 50 DCNBP &53) o057 T 50 SOI0LT S0 (D84S G0A. S B0 DD 1082 Bo& S0
&Q) Y P. P 50 RTOILE D. B @00558 S 08350 T @80 C0EM™ S, D 0 I I0oI
DY EDE ACNET €53 P Q. HHWD SIS’ DB (D858 DODHS 538 E. evychd C
NBAM Q OB DCNBT ) 0 SBLM:

(1) R,B 2 T,B 3) AP 4 S,D
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110.

111.

112.

If the second letter ‘E’ and the fourth letter ‘E’ from the left in the word NECESSARY were
interchanged, also if sixth and eight letters and the third and seventh letters were interchanged,
then in the newly formed word which of the following would be the third letter to the right of the
letter which is second to the left of R ?

(1) A 2 C 3 R 4) S

NECESSARY &% 9306 8 o0& Bo& @980 E 08050 & @830 (E) 0 J83)50 $78),
Q05" &8s NBA DAWND @E T DBIIB0 S0 DOAN TN, DS FTOI® HBIHS0
3B 5T D0 (80B 57¢3° & @E B0 R @08 50550 JchsN) BOE X0 &) 08 78 0BS NS
SrET S0’ 0N ?

1 A @2 C 3 R 4) S

There is a group of five boys. Kishore is second tallest in height but younger than Rajiv. Prakash is
taller than Manish but younger in age. Rajiv and Manish are of the same age but Rajiv is the tallest
among all five. Nishant is taller than Prakash and elder to Rajiv.

If these five boys are made to stand in a row in increasing order of their heights, then in which
position does the eldest boy stand ?

(1) 1% position (2) 2™ position (3) 3" position (4) 4™ position

CMHS 2eNE DXTETO . SO TS 55 DY SO0 TS EBE BOChS €9eh5085 )
358, AR ES) SIS’ DY FBID)EE, (H5°F @5 83) DBIech). TS HOAN HAN OPEr 2.3
AN EOTBIDYE3E TS €8 0CNHOS’ @0NBEN) RS e, (D5°F E5) ALOS KO S23ch 5°8
TS §8), 5000 Q.

S8 DAMB 2PeNED O DM ST (500 2.8 SHIS e BAES, O TS0 eehsoch DY
NN E& T A1 G ¢ ?

(1) 1S g°do (2) 285 S0 (3) 3% S0 (4) 4 g0

Consider the following statements :

(i) N is the grand-daughter of Y and W is the sister-in-law of G.

(i1)) U is the father of E and U has no daughters.

(ii1) D has no sisters and B is the daughter of the brother of D.

(iv) Fis the son of H and H is the spouse of I.

(v) N is the daughter of E and D is the only brother of E.

(vi) H is the mother of G and E is the spouse of G.

How is the father of G related to W ?

(1) Grandfather (2) Son (3) Father-in-law (4) Brother-in-law

Bod (DANT O H8Ked0b0d :

(1) Y 30 0dSTren N 08050 G G30E) SAS (88 dden) W.

(i) E QBE) 50 U S08a%0 U 8 §5rebr80y S,

(iii) D 80 5800 S 080 D T3nE) AP 8035°0 B.

(iv) H G308 50655730 F 08050 T 3308), 28¢b 230 cad H.

(v) E 3B0E) 8985578 N 08050 E By D38 PS¢ D.

(vi) G D30y SO H 08050 G T30Ey 28eh 236 5o E.

G By 50| W B0 57 ?

1) = (2) §cvdo (3) ST (CORFANVEVNINSIA)
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iy (40) e

e
cReyfacrd



113.

114.

115.

Five people A, B, C, D and E join for a party. A introduces E to his daughter B as the wife of the
father of his wife, and D is grandson of C. Then how is A related to D if one of these five is the
spouse of A ?

(1) Brother-in-law (2) Grandfather

(3) Grandson (4) Brother

QNS 3530w A, B, C, D SHBO50 E e 208 Q8 552387 e . A 65 50a3°8 B 50 E (D800 enehy, &80 ¢85S
255 B0, SO|B8 23735 €990, D & € F0 NXISEM HETICN0 B, &8 C0HOS 2,55, A BN,
2D 250 @O, D B0 A oS ?

(1) 2d/2rN00H 2) o=

(8) AN 4) &FAB

Suppose that
A * B means A is to the South of B,
A + B means A is to the North of B,
A % B means A is to the East of B,
and A — B means A is to the West of B.

If P is exactly in the middle of S and T; Q is equidistant from P and R; P is equidistant from Q and S,
then given the statement P—- Q * R % S + T, the direction of Q from T is :

(1) North-West (2) North-East (3) South-West (4) South-East
A* B &0t B %0 &8 &% &) A e,

A +B @0%) B % &350 & )8 A 0,

A % B @0T B 80 57°50)& &5) & A @),

BT A — B @0T B 80 HB0ES &) & A @9 0ok,

S 508050 T &8 SO 55T 83518 P;

P 08050 R © 00S& DewdrdosS e d Q;

Q B3 S © NOB DHAFSOS: S & P;

R0, DAY (DIDIS0P-Q*R% S + T, (D580 T 00 Q &0TBEF :

(1) OS50 (2) &S50 (3) S (4) esB)a%o

(A, B, L, 0) represents that L is the distance (in km) from A to B in the direction 6.

Given that (A, B, 5, East), (B, C, 4, South), (D, E, 8, North), (E, F, 3, West), (F, G, 4, North),
(G, H, 8, West), (C, D, 3, East).

Then, (B, H, L, 0) =

(1) (B, H, 8+/2, South-East) (2) (B, H, 843, North)
(3) (B, H, 842 , North-West) (4) (B, H, 843, South)

A 0S8 B &0 &3S e (3330 L (B)0 (A, B, L, 0) SrD0A. (A, B, 5, $5%)), (B, C, 4, ¢5§0), (D, E, 8,
&$30), (E, F, 3, D¢500), (F, G, 4, &S50), (G, H, 8, Hc0Y), (C, D, 3, 555 @ Q5 520RSE.

@ (B, H, L, 0) =
(1) (B, H, 8+/2, estf)0%0) 2) (B, H, 83, &530)
(3) (B, H, 8+/2, ra50550) 4) (B, H,83,580)
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116.

117.

118.

119.

Replace the misfit number in the following series with a suitable number from the options :
1,6, 13, 22, 37, 54, 73

(17 (2) 15 (3) 24 (4) 39

1B0& FBS’ R DOV EHFA A 180 AN DDYSOES” DB 00D IS (HBTHS TOHOH :
1,6,13,22,37,54,73

1 7 (2) 15 3 24 4) 39

If ‘bee pee see’ means ‘cook good food’; ‘ree mee see’ means “food is tasty’ and ‘mee nee bee’ means ‘tea
is good’, then which words in that language mean ‘cook tasty tea’ ?

(1) bee ree mee (2) pee nee mee (3) pee ree nee (4) see ree bee

‘bee pee see’ @OT) ‘cook good food’ @), ree mee see’ @OTY food is tasty’ @, ‘mee nee bee’ ©OT) ‘tea is good’
Q) @80 ©oNS e 27N B @0 ‘cook tasty tea’ 9SO ?

(1) bee ree mee (2) pee nee mee (3) pee ree nee (4) see ree bee

In a code language FORMAT is coded as 123456; MATINY is coded as 456789; PRAJAY is coded as
#35%$59 and BRAIN is coded as %3578.

Each vowel in the word AFFIRMATION is replaced by the next letter and keeping the consonants in
the word fixed, then a new word is formed.

Then the code of this new word thus obtained in the given coded language is :

(1) $114#43$6$#8 (2) %22$34%6#$8

(3) %11$34%6%$#8 (4) $11%34%$8#%6

2,8 86 70, FORMAT @938 123456 m0; MATINY @358 456789 d; PRAJAY e9FE #35$59 Ty 18050
BRAIN &3 %3578 1 §& TAHh22AS.

AFFIRMATION H¢5065°Q (963 @) T°Q 5053 €95 S0, (BT TR, TN S8 3005 28 (5¢
D), ST TI.

ADIS & 270’ @er FoAS & 15 Heso BwE), §&

(1) $11#43$6$#8 (2) %22$34%6#$8

(3) %11$34%6%$#8 (4) $11%34%$8#%6

Letters of English alphabet from A to Z are successively represented by the numbers 26 to 1. By
using the above rule, if the word ‘CAT’ is coded as 57, then codes of the two words ‘SUSPECT’ and
‘OBVIOUS’ are respectively :

(1) 90, 86 (2) 86,82 (3) 86,86 (4) 89,93

08 SESFOS A DO Z ©9F.0°0X SEOM™ 26 HOG 1 SBE K0 HoWIOE HrDONB. 2 DONSFY
MIB0D ‘CAT o o) 57 ™ §& BTN, ‘SUSPECT SH8A5N ‘OBVIOUS ©F 3ot Jore §& en
S*BOM ?

(1) 90, 86 (2) 86,82 (3) 86,86 (4) 89,93
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120.

121.

122,

There are 216 cubes each of side 1 unit. Except 3 adjacent faces, all other 3 faces of each cube are
painted with red colour. These cubes are joined together to form a big cube of side 6 units such that a
border of 1 unit width around each face has to be with no red colour. All the other parts of each face
should be in red colour. Then the number of cubes that are not a part of the border of each of the
faces is :

(1) 176 (2) 180 (3) 160 4) 124

1 OOPE 2230 Ko 216 e o). L&)@ DNI0S’D Sk 30, APFEN SHOE NHT® Ch
SNPPOEL B BOMH BB, && TR 0¢3 O 6 AHrAL 20230 B 2,8 DY DY & (§od Do
JBIEDB. 1D S0P THET 1 CHFAE ABIS DD S0HB DO €9s0BIHME 1D SVPOD
AT 2THN0T DB SOMHS S0, €9:9)C Q) NP 0N’ 2PHOTR) $VT° HOWS :

(1) 176 (2) 180 (3) 160 4) 124

If the following figure is folded to form a cube, which of the following options represents this cube ?

WOt~ |

1BOB DO HAED 2.8 NSO SATFHT N, (808 0DITOES’ D &2 Q) IS0 ?

4

1
5
3

A and B are parents of C and A is elder than B. The father A’s age is not more than 4 times that of
C’s age and the mother B’s age is not less than 3 times the age of C. If C’s age is not less than 7
years and not more than 10 years, then the maximum possible age difference between A and B is :

(1) 10 years (2) 7years (3) 19 years (4) 15 years

A HBAN B e C By $DG0¢0en 8050 B 0T A 8038 SO00)7E. 0B A T3y SAH0Y) C
TB0EY SONKNIZ ) BE E5) B0 5°¢0 BN SO B Ty SA00) C T30E) SOHMHE 3 BE §8)
8026 5°¢0. C AB0EY AN 7 0BT DL 8806 SE0T® DA 10 D0IE5 YT OE D80 TR0
&AL A HBAW B © 085 DB K83 533 230

(1) 10 S0Sedyoren (2) 7303&oen  (3) 19 QoSS yoren (4) 15 05ed)yoren
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123.

124.

125.

126.

A student found the 1357 day from 15 March, 1998 as Friday. Then the immediate date after
15t March, 1998 which falls on Thursday is :

(1) 34 March, 1998 (2) 2" March, 1998

(3) 5% March, 1998 (4) 4™ March, 1998

330 1, 1998 B 0B 1357 & Berddd 2.8 ersd HIETS0mr HO0TD. @I S0 1, 1998 S Soeseh
ST 33 HSTE0 B0y S -

(1) X8 3, 1998 (2) S8 2, 1998

(3) 385, 1998 4) S8 4, 1998

A watch loses 2 minutes for every 12 hours. The watch is set to the right time at 11 a.m. on Monday.

At the time 11 p.m. on the immediate coming Friday, the faulty watch shows the time :
(1) 10:42 a.m. on Friday (2) 10:42 a.m. on Saturday

(3) 10:42 p.m. on Friday (4) 11:18 a.m. on Saturday

2.8 HAOSS0 (D3 12 Ho®E 2 QTN BB Ire)eod. &8 HGATrTR) FhardSo &addado 11
HOLOE VS HHANOK DOTIO. FNTB0 SHTeh SOOT ST) DErdo Tz 0@ 11 Koere
QRVATS, €8 €5 ) BRASTEO LI DDANO :

(1) DE>S0 6. 10:42 2) 3Q3°B0 €. 10:42

(3) DES0 Toles. 10:42 (4) 3Q>B0 ¢s. 11:18

In which of the following years does 29" February fall on a Saturday ?
(1) 2044 (2) 2036 (3) 2048 (4) 2052

BOATIS Q H0X$IBOE (2396 2955 BA FATS0 SN0 ?
(1) 2044 (2) 2036 (3) 2048 (4) 2052

47-5° is the angle between the hands of a clock at 3 hrs k min, and the hands of the clock coincide
with each other at 3 hrs [ min.

Ifk>I,thenk +/=
1 4

2 7
1) 24— 2) 45— 3) 41— 4) 25—
(1) 1 (2) 511 3 1 4) 511

HX3DOHO 3 50. k Q. 0NIYC 28 HAATFS0S'D BO SNFY NS0 47:5°. 3 0. I . L0NSYEH €

KBASTED) BOK S0P 28 DEEES D8 NT 0w, k > 1 9o0S, k +1 =

1 2 4 7
1) 24— 2) 45— 3) 41— 4) 25—
D 11 (2) 11 3 11 4) 11

C. EE
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127. The graph given below shows the sale of cars (in thousands of units) by a car-making company A in
the years 2020 through 2023 and the table given below shows the ratio of production of cars to sales
in the years 2020 through 2023. Study the graph and table carefully and answer the question.

2020 2021 2022 2023

Year

Year | Production : Sales

2020 3:2

2021 4:3

2022 7:6

2023 5:3
If the average production in these four years is x and the average sales in these four years is y, then
X:yis:
1) 9:7 (2) 19:14 3) 20:15 4) 6:5

2020 0B 2023 HOISITOS 28 TG SOFE LoD A 20DS 8 @5 (H0F) ST (80d
Ber(H0 TIP)S0E BN 2020 HOG 2023 H055ITOES €8 E0D 528 GBI SHOON 0 ISOH K
QAIHMOD (80 HEE B0, (IPe), B DEEX 2rBST @B0HS80 T 180H (D%
ST INN 0.
18 1
15 +

12 T+

@570
©

1 1

1
2020 2021 2022 2023

DO B0
DOSSIB0 | coedIed 1 @e57en
2020 3:2
2021 4:3
2022 7:6
2023 5:3
S8 T H0H3BHTOES” FNBO 5°G HHED €55 x OO &t 7D H0XSIT'OES 236D €5 DN y

ORNZ0B), O x 1y =
1) 9:7 (2) 19:14 3) 20:15 4) 6:5
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128.

— 2rend domg

S

The following bar diagram shows the number of boys in each of the six schools A, B, C, D, E and F
out of a total of 6000 students, and the pie chart given below gives the percentage wise distribution
of students in each of these six schools out of a total of 6000 students.

12001 m
1100+
1000+
900 1 1
800 1
7001
600 1
500 1
400 1
3001
2001

100
0 []

School E

——> Number of boys

29%
School A
School C 12%
26%
A B C D E F
—> Schools
Observe the above diagrams carefully and match the items of List I with the items of List IT :
List I List IT
A. The difference between the number of boys and the number of girls in the School Cis 1. 1340
B. The number of boys in School B is less than the number of students in School E by II. 380

C. The difference between the number of girls in school D and the number of boys in III. 40
school F is
D. The difference between the number of girls in school F and the number of girls in IvV. 60
school A is
V. 240
Choose the correct answer :
(1) A-II; B-V; C-IV; D-III (2) A-II; B-I; C-IV; D-V
(3) A-V; B-I; C-II; D-III (4) A-V; B-I; C-III; D-IV

S FEFTOBS A, B, C, D, E SHOAN F oS 050 Ieeshen 6000 O 23end Do (808 802
DS0 BTHH0D, HON FNBO 6000 DEPsHOS” S @B FEFTOS TP DOV FhesNe> O
Bo& ' (pie) D0 )0,

12001
1100+
1000+
900 1
8001
700+
600

500+
4001
300 1
2001
100 +
0 |_|
A

B c D E F

—> FEToON

D@ 22HST™ HBIO0D, 2w I S ae3 erde I1 S°Q ¢3S, 3¢ TOHOA :
e e 11
A ST C S arend HowsEy, 28 HoPsdo Ko 23850 I. 1340
B. &7 B S'Q 2rend Sops, ard7Ee E ' Do sdder Sops §0To 80 o 11 380
Qo
C. 3730 D S ardEe SoPE, S F S'Q arend Howsdy 8ed 33650 II1. 40
D. 37 F S'Q 2rdEe Howsdy, 7 A S ardier Howsdh de 5o IV. 60
V. 240
OB DTG0 DOTNE AW :
(1) A-IL; B-V; C-IV; D-III (2) A-IL B-I; C-IV; D-V
(3) A-V; B-I; C-II; D-III 4) A-V; B-I; C-II; D-IV
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129.

130.

131.

132.

133.

134.

Choose the correct alternative to fill in the blanks in the following sentences.

‘Could you pass me piece of cloth ? I've spilt some milk on floor.
(1) No article is required, the

(2) a, the

(3) No article is required, No article is required

(4) the, the

Fill in the blanks with articles in the following sentence. Choose the correct alternative from the
options given below.

‘T went to prison lot when I was student of social work at
Manchester University.’

(1) the, a, the, the

(2) a, no article is required, no article is required, the

(3) No article is required, a, a, the

(4) the, a, a, no article is required

Which of the following sentences have incorrect use of prepositions ?

A. Tordered for ten books.

B. A national leader should communicate to his people effectively in the meeting.

C. My friends after their tour will return in this month.

D. They agreed with the project but disagreed with us.

Choose the answer :

(1) Aand D (2) A,CandD 3) CandD (4) B,CandD

Choose the correct sequence of prepositions to be filled in the blanks in the following sentences to
make them meaningful.

A. Could you hand these cookies with tea to the people in this meeting ?

B. Since she had broken the rules of the contest, Susheela had to hand the prize.

C. Please hand your passport at the office, it will be returned to you later.

D. The papers are signed by an official before being handed to the next department.
(1) around, back, in, on (2) on, in, back, around

(3) back, on, in, around (4) 1in, on, around, back

Fill in the blanks with suitable form of words from the options given below.

Next to him in came a vendor of fried groundnuts, who gave his ware a fancy name each day,
and people to him. A portion of this before the astrologer too.

(1) vociferous, flocking, considerable, dallying

(2) vociferousness, flocked, considerate, was dallied

(3) vocifer, flocked, considerability, dallied

(4) vociferousness, flocked, considerable, dallied

The following three sentences have an underlined word each. Identify the word from the given
options that is a synonym of all the three underlined words.

A. The public seems to have an insatiable appetite for celebrity news.

B. Raj has had enough of his sister’s materialistic requirements.

C. A dragonfly and its larva are both voracious eaters of their fellow creatures.

(1) gracious (2) greedy (3) grasping (4) hungry

C. EE
iy (47) e
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135. Identify the correct mapping of the underlined word in the following sentences with its antonym.
A. The verbose explanation given by the lawyer was quite difficult to be I. Fallible
understood by a lay-person.

B. Their method of functioning was extremely impeccable. II. Self-centred
C. This city’s pollution problem was alleviated by the sudden shower. ITI. Unpoised
D. The CEO of the company was an even-tempered person. IV. Succinct

E. The child’s altruistic act surprised all. V. Intensified
Choose the correct answer :

(1) A-1V; B-I; C-V; D-III; E-II (2) A-III; B-1V; C-II; D-V; E-I

(3) A-1V; B-III; C-I; D-II; E-V (4) A-II; B-I; C-1V; D-V; E-III

136. Which of the following sentences is/are grammatically correct with reference to tense ?
A. Ifyou were an avid reader, you will take special interest in this project.
B. Ifhe is a voracious reader of historical novels, he will read a lot of them eagerly and quickly.
C. Had he had a prodigious memory, he can have impressed everyone.
D. If she works hard, she will enjoy the fruits later.
Choose the correct answer :

(1) Aand C (2) BandC (3) AandD (4) BandD
137. Fill in the blanks with suitable form of the verb from the options given below.
‘The girl coins from her piggy bank for quite some time before she of buying a
toy for herself.
Choose the correct answer :
(1) had counted, had thought (2) had been counting, thought
(3) has counted, had thought (4) counted, has thought

138. Which of the following sentences has/have subject in agreement with verb ?
A. Mr. Atanu’s computer, as well as its programs, are out of date.
B. Many of us make New Year’s resolutions, but few of us keep them.
C. Everybody talk about the weather, but nobody does anything about it.
D. Neither Bheem nor his friends helps the villagers when they were in trouble.

Choose the correct answer :
(1) Aand C (2) C only (3) AandB (4) Bonly

139. Which of the following sentences has an appropriate subject-verb agreement ?
(1) Two thousand rupees seems a reasonable price for this.
(2) Alarge number of teachers has problems with continuous assessment.
(3) Bread and butter were served at breakfast.
(4) Either she or her brothers is attending the function.

140. Which of the following sentences has an incorrect passive form/voice ?
(1) The meeting was attended by salesmen from all the regions.
(2) All successful candidates will be notified by post.
(3) I want to know how these substances are absorbed by the body.
(4) All the bananas have eaten by the monkeys.

141. Choose the correct alternative that transforms the following sentence into reported speech.
“We won’t eat it now, but we may have it for lunch tomorrow,” said Sudesh.
Sudesh said that
(1) they wouldn’t eat it then, but they may have it for lunch the next day.
(2) they wouldn’t eat it now, but they might have it for lunch the following day.
(3) they wouldn’t eat it then, but they may have it for lunch tomorrow.
(4) they wouldn’t eat it then, but they might have it for lunch the next day.
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Read the following passage carefully and choose the appropriate adjectives from the given choices to
fill in the blanks.

One of the not so debates in modern society is ‘whether I create my destiny or my destiny
creates me’. Many people believe that life moves according to a plan as all of us are
regulated, governed, and controlled by some power and authority that guides our

course of life.

(1) futile; pre-ordained; supreme; entire
(2) modern; entire; pre-programmed; higher
(3) careful; futile; higher; supreme

(4) modern; pre-programmed; pre-ordained; least

Read the following sentences carefully and identify the sentence(s) that has/have incorrect use of
adverb(s).

A. John works very hard, seven days a week.

B. Tom drove careful along the narrow road.

C. Sita spoke extremely well.

D. We didn’t go out because it was raining heavily.

Choose the answer :

(1) Aand B (2) B only (83 CandD (4) D only

Match the type of conjunction with the sentence in which it is used and identify the correct mapping.
Conjunction Sentence

A. Addition I.  Various writers have examined the issue, for instance, Van Exel (2000).

B. Result II. Although the concept is easy, it was difficult to answer the question.

C. Reason III. Furthermore, child mortality rates must be examined.

D. Example IV. Prices are rising worldwide, thus encouraging investment.

E. Opposition V. Owing to the strike, today’s classes are cancelled.

Choose the correct answer :

(1) A-1V; B-V; C-II; D-III; E-I (2) A-II; B-III; C-I; D-IV; E-V

(3) A-III; B-IV; C-V; D-I; E-II (4) A-V; B-1V; C-III; D-II; E-I

Five sentences are given which are marked P, Q, R, S and T. Identify the correct sequence of the
following jumbled sentences to form a meaningful paragraph.

P. As with any type of service we intend to hire or outsource (IT-related or otherwise), it is
commonly understood that we will be confronted with a marketplace comprised of service
providers of varying quality and reliability.

Q. Others yet may simply be insincere or temporary business ventures that unexpectedly disappear
or are acquired within a short period of time.

R. Some may offer attractive rates and terms, but may have unproven business histories or highly
proprietary environments.

S. Cloud computing is, at its essence, a form of service provisioning.

T. Others may have a solid business background, but may demand higher rates and less flexible
terms.

Choose the correct answer :

(1) P,R,T,Q,S (2) S,P,Q,R, T 3 R,Q,S,P,T 4 S,P,R,T,Q
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Choose the correct mapping of the following jumbled sentences to make a meaningful paragraph.

A. As an undergraduate Kamen developed the first pump that would give regular doses of medicine
to patients.

B. He flies to work by helicopter, which he also uses for visiting his island off the coast of
Connecticut.

C. The patent for this and other medical inventions has produced a huge income, allowing him to
run his own research company which, among many other projects, has produced the iBot, the
world’s first wheelchair which can climb stairs.

D. Dean Kamen is a 50-year-old American eccentric who is also a multi-millionaire.

E. He always wears blue denim shirts and jeans, even when visiting his friend, the President, in the
White House.

Choose the correct answer :

(1) D,A,B,C, E (2) D,E,AB,C 3) D,E,B,AC (4) D,B,A,CE

Choose the correct order of jumbled sentences, which are marked P, Q, R, S, T from the options

given below to make it a meaningful paragraph. Sentence No. S1 and No. S7 are given to you as the
introductory and concluding sentences of the paragraph.

S1. We need to learn from nature.

. When you don’t know your limitations, you go out and surprise yourself.
But the bumblebee doesn’t know that and it keeps flying.

The only limitations a person has are those that are self-imposed.

In hindsight, you wonder if you had any limitations to begin with.

HnN oo T

According to scientists, the bumblebee’s body is too heavy and its wingspan too small for it to be
able to fly.

S7. Don’t let education put limitations on you.

Choose the correct answer :

(1) T,QR,S,P 2 T,Q,P,S,R 3) P,S,T,Q,R 4) R,QT,P,S
Fill in the blanks in the following sentences with suitable words from the options given below.

I usually spent three to four nights from home, and then worked every weekend

numbers, plotting graphs, writing presentations. I was all the time; it was an intellectual
and a physical low.

(1) away, crunching, learning, high (2) along, crunched, learnt, higher

(3) off, has crunched, learn, highest (4) away, have crunched, learnt, higher

India and China held another round of diplomatic talks to complete the disengagement process in
Eastern Ladakh and in the A of any breakthrough, B to maintain regular contact C

diplomatic and military channels _D border peace.

Choose the correct option to fill in the blanks A, B, C and D respectively :
(1) presence, allowed, by, on (2) dearth, accepted, from, at
(3) absence, agreed, through, for (4) lack, permitted, within, from

Several X Bank customers have reported either attempted or successful A transactions with
international merchants _B the last few years. The Bank said that the transactions _C to be a

“BIN attack”. The Bank said there was no _D of any breach and as the frauds were undertaken
with basic card information, the debited amounts were recoverable.

Choose the correct option to fill in the blanks A, B, C and D respectively :

(1) legitimate, at, watched, combination (2) fraudulent, over, appeared, indication

(3) violent, through, viewed, nomination (4) silent, in, looked, communication
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